® L29—1(@avFryyds—3)

NTO /o057 msmum  PON-T TYPE ERiREREAE

Compressor Cooler Non-Flon Type Top Mount Instruction Manual

COUE, BEREEEEVETFOEERICHYNES TTVET,
CHEADHICBHT COHRATZ LK BHRADLE, ELIBFENLEEL,
(COREHRAZT. BTRELTEVTLEELY, )

Thank you for purchasing our product.
Please read this Instruction Manual carefully before use,
to ensure proper use of the product.
(Please make sure that you will not lose this Instruction Manual.)

@&ID C¢

< B®X Contents>»

AAE
1. ié[:ﬁgj—é :‘53:_:%? ................................. 2
2. v t“:?wy FADETAE oo 3
3. EE%}% ................................. 8
4 . Eiﬁ ................................. 10
5. P5—L -TEHEE 16
6. A ~/7—-j— SOR e 17
7. ﬁ:ﬁ ................................. 20
8. B‘%ﬁ[:ob\—c ................................. 24

ENGLISH
1. Safe-ty Precautions @ = @ e 25
2. Mounting ................................. 26
3. WI r | NE e 31
4 . Operation ................................. 33
5. Alarm/safeguard ................................. 39
6. Maintenance 000 e e 40
7. Specifications ................................. 43
8. Waste diSposa| ................................. 47



1. R2ICETZTEE

QDY —FIIHIHERI —5TT, RERODBMLUNTIEK, #ERFIERALENTLESL,

O CHERICHBHIC TREICHTHITEE] 2L BHRADLE. ELIBEVCLEEILY,
ONIKGRAEICRLIIESREE. REICHETIERGABRZREHLTVETOTRLTFoTLLELY,
RREEBEKRIEIRDELSIZH-TVET,

Wi ER S =B AT AR
A y[eHs PREIYZ T REFREGES

BRI L TIEWLFAL THRIE) 2BRLET,

TOTRIABESSBA. REOTTLLES DIRRE] EBKLET,

MEIYAT, PEENGEERT
A FE BALEMAEESNBBE, BLU

BFVWER>HEIC, BREKER

IR L T =L T3#F) £28KRLES,
MHBELTORENMEE SN D5
P

Bo

MEEMER] EBRLETS,

REIR] ZBERLFET,

> B>1@P|O

A g

BERFHFEICASGENTIEE,

A zE

BEPREHEAANA—ZHELVTEEN, 77 VEGEBICHEPEPZANLGNTEED,
EEFBERZYIY., 77 UABLELTHALIT2TLESEL,
R DRERIZEY ET,

BATHOFERERETEEEA,

SIKMEAR, BRUEAR. ME, BBEEIT ST VLGENRETLERBES AEFTIIEATEEEA,
—FaDET. BEDORERIZLGY FT,

R - BEOHAEAMTREERATEEEA,

REDYE - BEIFEFCLGNTLESW, Tz, BEZT LI5S EEHOBSEHRERBICTHHMCZS L,

D—ZRETHRE, BHAITEEIUVHZITLANTLEEL,
F-. AEREM 0~+60°C. /REA 85%RH LIT (FE#EER) O&HBETREL T LI,

@

V—SRETHE. BFFrERY MHIABLERBERNIERSN TV SBAICRETFBFFTIES L,
—SAERENMETLET .

V—Z%EWT H5E. DTEMNSELVTEEICHIHFRICERL TSI,
Ffoo FrERY MIRMFFRKETOERESHERICLENTLEEL,

FrERY FRIEE+20°C~+45°C. F v ExR vy FMNRE+20°C~+50°C, JRE 85%RH LT (E#EE) OEETYLT
FRALTESL,

J—SDMASNT=E., TOWRERENEBELTLELMERLTLESL,
—REDEGE. V—SOHEDQDRRICDENYEI DT, BIEEZ LI —FIEAICERLLZONTLESL,

AENRNEBEEEASNSEE T TEAZROL VLS ITLTLEEL,
SHAEAEZERALTVSDOTHINMIBRRET 2EETNLHYET .

A

T4LEIE, FEDHLDEFEAL TS,
—BHOMMGE T4 LEEERT HE. BMEHEATAY, BEHEANDET - ®EORHEICHZYETS,

D—FF, BFEROCEKICALSHADEZTEZFOH., XEV—JICETHHMBOEVNEO CHEAXESEFCEZEL,
L. V—JICHT B ZERT HENEROT. HHIVITHERAICEHTIHEZRITTLSHAIE. ZORY
TEHYFEA,

AHRBE, BASHNOBESLVRIBETRET S (TH5) GETHEAT MO -OETARTEE (PSE) (FIFZH
ERYET,
—MREEC/NREGIERH. FEXFLEENEE 600V LT TREY HEAMOERCEREARMBLRETORARXTEEEA,

—2—




2. ¥vERY bAOBTHE

2—1

BFIFICEYT 5 TER

A s

A\

J—2&FvERY bARFITHEER, BEHLED-OERBIREFLSETIEZE,

A xE

O

J—ZOHREICIF. FEKUADED (R—R/NAY FIEBROFERALGEVTEEL,
SHECTLIDRERIZGEY FT,

B - BITERZITOMRIE. ZAMETIToTLEEL,
—IFADRERIZEYET,

D=3, +REBENHDIF v ERY PARMFIFTLEEL,
= —SHAROEENS VR, FryERY FOWMFEICLY. &, ERTEIESETILHYET,

FERY S RLE. HESNEZHLOEERL T ZE0, BAFORRE, BIERMT MLY ST T T Z S0, #Hif
FAR+RBIGEE, BIE - BT -AED | PHEASTLOALBVWRRAICHEYET ., T, T TEEOEEE. A%
WRTHBETNNHYFES,

RLECOIEY WIEREST FJL2 Nem

BAIL kM6 x 30

2.6~3.6
T+ kM6
B4tAIL + M8 x 30

6.2~7.2
T+ kN8
ATE/ SR ILE T4 L M4 x8 0.7~1.2

BAE SRILAY B MEDTETMIL TS,

D—SOEfTITFIE. DL SITHTKE - F|E (£2° ) ITHET 7//// 90°
FTLEEW, 7575
SH—SOREHBEERY. H—5TRELEKERL—XIZ /AN
B g 50TY. 00"
xRy b

90°

7777777777777 7777

D—SDFREF. ARLGEI[ERZERL, 1=y FEEE
Bt L 200mm LAEBEL TEREL TS,

FtdvEhy FRORSEERN, BFHFONENESIZLT 2oom 5
CEEL, LRAFOAANE. ZREBAECRY . AN e s
.¥| N >
DETORBENELET. 200mm 24 k£
1
7
v Exy k Xé
@:J:VFEE




A xE

Y—SDFERABRIE. BIHIRICKELTHIEREEZFEALT RS
S,
T, V—I~OBRBRANDOCE, BTEUEREIL—DEN
LTHEBRL, REICIDIREMLEDO. 7—RRIELTHEML T
S,
FHRREIL—HDBE

- PCN-30T-2 EHEIHR 5A

- PCN-70T-2 EEER 5A

- PCN-110T-2  ERREIR 5A

- PCN-170T-2  FE#ER 10A

- PCN-230T-2  FE#EiR 10A

- PCN-300T-2  ZEH&EiR 10A
REIL—HOEERBREERIZIMA ZERICLTLEZSY,

D—SDREICFERIENVETY, EMXFICTHEHKILSL,
SERGEDREIRIIRHELHDH EBRBELAKDORAICGYES,

Y—ZFHB®R. 3TV HOREDO. BT 0S/ULBBELTHOEE. BEERBE LTI,

RETHFvELRY FOKERETDICERLTILESL,
—’—\.mlifJWF-I- TTHHERBNEL., HAHNRMETLET

FYERY PABMAECIRIILAY M) ZNITHERE. OIYBAFYERY FARBKRICALGLBNL S HHETRE

LTHLHEREITOTLEEL,

Ya—btY—Fy FIDOWT
J—SARREOMEICF Y ERY FHOEBOEZUNHZEE. 5 iR //////
AEANENIZHIZY I —SORAONEER>TLES ZEAHY N\
FF (a—rHY—Fv k), ////
COBA. FrERY FRICARMTEEL T, FrEXy FREE | \
(DEQBE(DJFII HYET,
Ff-. V—SOEBEGIZHLARNIIHNY . BERCI—SOHREDRR ;’%EL l

(&Ui? J—SBERICY 3 — Y —%y FAERIAI-EE
BRAROEMT T, BRAT 7 VERETAHELTARADY 3

—I~‘U‘ FoubZEBILELTSEE, t
/

7
ek B’HER7 7>




2—2 W{HFFIE(Fv ERy FEUTETEEIRE : 1. 6~4. Omm)

FTBRIZDOWVTIEP.21 172 {WaAaRNE] S8)

DEMEDF v ERyY FARA/SRIILA Y R (P.6) 2> T. BMOSERMEICMIL TS,

QY —SEBICHBD/IAYyXUEE-TLEEL, (FRE IBBHE 238)

QEFE VSRILAY R IZEHETY—FTEBBL T AL,

@ EFRIZFHBOITAIL b M6x30 /- [EMx30 FF v ERY MMIEYELRAATLEEL, MEBICLYH4A XN
BHYET, )

OFvERY FANDT YL v M6 £ M, RTYLTTyiv M6 Ef=1E M8, ;v b M6 £=IZ M £EAL T, BE
it FLYISTEELTSEEW,

@®FvrERY FOREMEE+DICHRET A=012. BEITHELTI—Y V5% ToTLEEL,

DRBED [75—La—RHEAS—IL] EROTVVEEBARMFTIEEN,

REAE

it AL _
M6 x 30, M8 x 30 7 I—La—FHRAS—I

(TR M)

@75-43- FHH Descriptions of alarm code

E 75-iEl 75 -LERRE
Eid Cause How_to [uncg’ﬂha alarm

E1

7wl M6, M8 L
(tEM) e
AT Iy —
M6. M8 ({+/E&) =
+v kM6, M8 e
(tEM) e

ARTE -
(TE&)

ER{
A% BTN S

ecants or nore. The operation lon wil
FG, o 0 Bices BeNed B 1 orced
i Sreton

MR TOARCE B!
For more nfornciion. please call us. N0 NITTO KoGYO CoRPORATION
Cuslomer Service Office TEL +6561-64-0157 wwwn

A ZE

PCN-70T-2, 110T-2, 170T-2, 230T-2, 300T-2 [ EL@EIZ7
AR EEREFRFTY FMBRES 13D 2 hfFAHYET., 74 FARILEERA AT vk M8 FEE 13
RIL FERBEXT7TARIL FOEBENAF Y FEIZEET S
EIIZFEDHFFITTLEEELY,
FARILLEERALTRY LIFRIGERICITNT 2 AR EE
ALTHZEIZRY LIFTLEEEL,
1 AFFOAHTRY LIFB &0 —SHHE, Bigd SR
NbYET,
Ft=. FrERY FMZEBFFHRETRY LIFRNTLES
LY, BBE, BB HalBEELHY ET .




O v ERY FAEMINARILAY PR <FrERY FIMLRER> (BASL :mm)
PCN-30T-2 PCN-70T-2
4-B10%&R
ﬁé/\ A'%IU’&%)\ (WHR)
39 \280 (189) (Rfi7) ((2255))
~ 25\ (178) /- ® >
™ ™ o ©0
= s S
o - | LO
o| ™ ol m o N X .o ™
™ : ~| W N 1 = E
[qV]j = —| &y [sViTe) —_
™ N |
1 ____rJ 1 T p— S — r'l
o O
el Ya 480 < Cl Yo 580 ~
508 (14) 600 (10)
PCN-110T-2 PCN-170T-2
R 4-010KER Ll 4-010K&R
50 \ 330 (270) (RHR) 39.5 \ 320 (289.5) (RHR)
~ 40 (260) ~ - 25\ (275) -
< o @ ™
& NS z . 0
oy ek il --— ==l S - Y
» IS} [
- (2]
= ! ' Clo S ! ' 5|
™ ! ' o ™ | o
™ [Te}
a m
U\l - - T —— H o i - ——— 5 D
S 630 < i B 620 10
650 (10) 549 (14,5)
PCN-230T-2 PCN-300T-2
&R 4-010K&ER L 4-910B&R
40 \ 320 (350) (M R) 40 \ 350 (430) (RHR)
= 25 \ (335) = ~| 25] (415) =
I 0 o 0o
ok — - - -- : Ty - --
o 1 I o 1 I
Py 1 1 ™ 1 1
< olm < ol m
o o| o [(e] o| o
™ M < o o <<
« o . X
P | ! o™ | 1
1 1
p— - ] = p— — _ 1 —
b 15 680 o ® (5 790 [Ie]
710 (15) 820 (15)




2—-3 FLUKR—R{TESR) OERFIT
J—3THRESHFEELEKEFI., FLUVKR—RZBLTHRNET,
FLUAR—RBEUTOEEREFTY . ELIEMFFTIEEL,

A xE

FLUKBRL—XICHHENBEWEI—FHAOKZITMNSF—N—T0—L, V—FRFELEFVYERY FA
ISKDBBATH=H FLUAR—RIFEL CHFIFTLESL,

s RLUNRAL FITRLUAR—REZ LADEIFIRFEVWESICBTETCELRAATLESL,
RLUR—RAD%kiRE LIRS TOEGHIMBWMESIFHR—ANY FEFERAL, BELZEEZT2>TLESL,
C2EKDRLUNA TEEKHLTHERLEWVWTCIE LY,
X VYERY FOAICIKHEOLBFZFEAL T, FROGEVWKESICL TS,
L #tF

S S S
/’] -3 %

s =
FrERY b

0|0

=0

s FLUR—REHYBIFLY, BEOVY LEVTRTERICES LS ITEMFHF TS0,

s FLUR—RIE, V—FKEDRFLUNRA TORMBELYELLELHENESITLTLESEL,

- FLYUR—ZRDO%EIRE, HIFEOTE>FT CFIZAIFTLLZEL,

s RFLonRgaTJoaxk Y#EAR LS00m LLATTRICEAT LSITLTLEEL,

BRELES LTHHEAMIZ 500mm LD ERE LABEGZIEEF, BT FYARICTERMAFTILEEL,

500mm LLA
//////// x x ///////7
0 /////// /m //////// 0o
FreERY b FrERY b+
0|0 0 @
\_/
RFLoiiS FISBBLRAEMABVTL E S
s FLUR—RADEHENIBT FLUKIZCENMNSHNRSIZ
L'C( T:éll\o
C FLUKABANHENWESISEEOEWVRLR EERT C> )(_
CEDITETTLIESLY,
KLk




3. Em#R

A xE

=S DHREIE. RETHEDRANRE->TLESLY,

- BEIIBIROEREEICHE > TL S,

o O —SDHRERITIEREETNE10%TY, EELERFLHFREXTANICESIFS LS. EREREICFELT
{TFEELY,

TR (E) [FadHEH LTI,

- EBHICFERASEE. R, BEHICHEN W EZEALTHLEBELTLESL,

3—1 EEAE CEEEKRE ANG24~12.70.2~2. bmm?)
BEOHEELE 6~TmmRHUNTEELY,
QYA FTRARSAN—IZTHFED MEHEHBLARZ Y] Z2HLAATIESLY,
QEHJEAOICEREELAATLESL,
@747-7( KSA/IN—%F|IVTL S,
ERSIRITHEWS EF#HRL TS,
COEBHFEFEATAIESETII= VIR - aAV4 Y b8 FEFERALTEEL,

OmmFazMl HME (TEM) OimFax#M =M (fEM)

afEm 240V 1.5A x2 EHREH afEm 240V 1.5A x2 EmBT

(T [T

aYaYaNaNaya MR LR A aTalalalalala R LR

LNE123/ F\’STE123J/
0000000

OOO00O00OO

L N E 1 2 3\%.‘&%§5&D R ST E 1 2 3 \%ﬁﬁi&ﬂ

— ~— ~ -

“ﬁw 75— LHHBT me 75— LH AT

A F—2R

XFEMIE P12 14.6 75— LHAHFOEIL] %
SBLTIESL,

3—2 ETEXMEEK
©PCN-30T-2~PCN-170T-2 (5l : PCN-70T-2)

LR

(""1 Ea-Z 250V 1A

e S o faon
I I

LF__ CN8

RYI 874
1 HBRTRLE | [ ]
— =\ v o !
r o3
8871 i l:“ o I___J
ﬁis: AET Y4
| oN2 || g
U ivho-3
&) =
W877v18  IvTLa¥ AB877V18 Jo-b2R49F




©PCN-230T-2

ABAREE
(H@aER) 3/‘\
_%_“_l N Fuse 250V 1A
= 8 oullfi>
ol
- CN8
RSTL Cl A o |y RS|TI|
| \/ (o1 RYI
— -2l N
- %ﬁ) iy | Y- i BEE ﬁ-?
Rs7 BCA ! ! - - M;#o .
IJ A . 0] .
BEBLY - - N 22
UV W semns CN3 3J
mzns H o
t t i&tﬂy -
| _ - oN2 || 2
3 ivho-3
I ‘@ | AN
EMI) (M1 MP A8% M
Q U ¢ REZ e T2
~ o Jo0-FZ49F
AE77 928 197Va 4 4877748
©PCN-300T-2
_%_"_I E1-% 250V 1A
- o T
o 1
CN8
RSITL LA o |g; RS
J (o) RY1
= E . i ~ rw
BCA | A 1{- -- i ANERBLE il
RST lJf L , o1
BRBLY - - NEQ o2
UVW =emms CN3 |_° 3J
BE Y
] . cN2 || &
ivbo-3
’/ ﬂ-{XFﬂ:‘
UV J
| | | v XL
@ @ LCMP v FM2 (FM2 (FM2
— o Jo-+24yF
nE77 V28 197U Y K77 v48



3—3 BERREIZTONT

A\ ZE

- BRAOREIL—hENSHVE, AR—RENRELGE. HEHBEADREIL—ANM) Y TLT

0 Y—SERADRKEIL—HELTRIFHFTLEEL,

LEVET.
ERRET L—HOEE
- PCN-30T-2 EEER 5A - PCN-170T-2 EMEER  10A
- PCN-70T-2 EEER 5A - PCN-230T-2 EMEER 10A
- PCN-110T-2  E#EH 5A - PCN-300T-2  =E#&EiH 10A

V=S RFEBREBEARES & UVY — 5 EEMRREICH | REORBERNANE T, CORBERICRIMET S 0L L,
ZOHRDBERZENTHIL—DEEEL TS,
-RBEIL—DOERBEBRIF IMA ZBRICLTLLEEL,

4. Eix
4—1 BERICEAT A TEE

A\ =&

0 Y—FFFER. AVTLYHOREDD, BT IONULERBLTHSEE. EEEMBEL TS,

| BRIZ 6 EBLED > T LD N OFF £48 Y R ¢ A EE 2B LG LT EE L,
YTy H DL ON/OFF (3, HEQREIGYSaEE< LET,

SR ONOFF A2 BBAIE. P11 85 A—EBEDT 1 77 LU L v LOBEEEAEC LTS,
® (F477 LYl ON- OFF BEIE)

D=3 DFRERIEEZANDERL, hN\—ZH LEFETOERIEALGNTLESL,
—IFTHADRERAIZEY T,

FrYEXRY FOFEERBLIZEET, V—FEEIFIEHAICLBNTIES,
—RBESLVFLUKOEEREZBEFS, FFvERY FRICHBKNADAREENHY FT,

4—2 FBEARIL
RTRE GRER Xy ERY FREERT)

Upli % > ~_ [RUN

- Eets:
@Es v I® o~ | H 5 o

RAT U —5EERH
HAT - 9 — 5B ELF lAL\(A\RM
R - 3HI S — 5 Edn /

Down K% 75— 155G

4—3 BREREDESR

A =&

HBESIUVFLUKDEEREZBEET,

c HERETHBCEREREL, TOHIRERELZTIFANTLLZEL,

D V—FDEREREBALTLEEL, REHICRADFvERy FAREARTENET,
@ BetfkavE@LT K EEL, (BEOERERENSRICTRREIAES., )
@ Upl. PownjRE vz T. CHZOREREICEELTEEL,
($DHAER 5B :35°C  BR5ER BEHAEH 1 30~45°C)
@ [Set|Ra v EMLTEE, BERENRESA, FrERY FRBEXRTRICRYET.

4—4 BEI—SEE (V—FEREGECTERACESL, )
Up|R% > & Down R4 o #EEIZ 3 BLUEEMLTEEL,
B S L TR LRy — S B ERE L E T Y — 5 BEmERI/ NS A — 4 (P. 1) THRE SN I-BERMBIE L=,
BEBEICRYET. (K0 —5 EREHMODEREIL0HTY, )




4—5 INSTA—HHTE
BE, NSA—FIBREEZEFTTIDLEEIHY FEAD., EEOBLELHIEEICIETREOFETEEREL TS,

OBADF ¥ EH v FARENRRENTWSREN D, SetfRE L IBLUERMLTIEEL,

df

{d

AL

dAf

UTOIEF TR A —4BRTENET, Set [REVEMTLICEY ., RNSA—E~BELET, EELE
WS A—aERREE, Up K% > - Down]
ADEENRESNET,

e THEBELEEL, Set RV &M LIckoTHTA—

s TA4I77LIIYIL(F) RIEARRRE : 5°C| EREEEH : 3~10°C

(BERE-TA477Lo VL) DREISELESS, VT LydMEELET,
CONRFA—LEERS HBICIE, 1BEIC6EUET ST L y9h ON/OFF 242 Y IR S 4 LR
BERESLIUTAIT7LU v ILICLTLESLY,

- BB Y — 5B (Cd)  [#IRARRSE - 308 EREEEE - 0~90 7

Down|K% > % FBSI= 3HLLERIM Lz & FI2, #HY—FBEETIHMTS .

- FrERY FARET S —LIRE WMD) #IHHE : 46°C] HEHE : 35~51°C

FrERY FABR7 S—LNRET HRETT,

Xy ERy FASRTS—LBATAI77L2Y% LN [#IHISRTE : 2°C| ERTEEEE : 1~20°C

FYEXRY FNEETS—LERATAI77L2I%ILTT,
(AL-dA) DEBEIZELBE. 77 —LMNRBRINET,

CADTFUORBMLEHEEF])  [#DHARSE : 0 | HRESEH : 0~99

AUTFTFUOROERERMOET HHEETT .

0: AVTFUREHMbEHEEEFER LAY,

1~99: 12100 &E LA VT FURABHERSMOELET,
HIFEIRNE TI&, 1 BB TEBEDYY FLTOETS,
5 : 99 SRE>BIRIZAL 9900 B ICA VT F U ABRZEMLOELET,

- BRIEARICEE Y — 5 EEDEERE (CS) FIMARKRE : 0| ERE#HA : 0. 1

V=S DBRFEEARIC, BFHY —SBHETONERELES,
C BIRBRARICEHE Y —SEE LY,
1 BRIEARIZHES Y — 58K 5,

- BBEEROY —SBRERAEDHE Pr) [#IRIRKE : 0| HEHHE : 0. 1

BEBEET 5 —L E)REROERAEERELET.

0: B
1: BB
75— LBBHEEP.16 5-1 () RRRETS—L) EBBLTIEEL,
B

HEERICRELGAE., AERRANOKRREERERINERT LV —FEEFBERLETHN, &
FEHABLUVT7S—La—FRFREFVEY FENFRARREEORESRESALZVEEZEHER
RYRTE, V—SHBEITIRREICHEYFEFITDT, BEDIZTAVTFURETHOTLESL,
(P.19 T6-4 ZD &k 5 HBEICIE) #S5H)

A%

FAUTFUABHMOoEHEEDH NRE Fo) |[@MARRGE (1| EREEE - 0, 1

AUTFFUREMOEHEMICE L. 75— LAHAHT T OPEN - CLOSE YIBE X DERERELET.
H A3HF D OPEN - CLOSE [(FRR—SDF T —LHNHFORLRESECLTIEEL,
0: e1BZZ LAY,
1 YBxET 5.
MO IZHRE LB, AT U RBHOEHMICH>TET I—LRABFHI S IFHAShEL A,
fE L. BRARVICHE 4l RTENES,

s 7 I LHENIEFOEILRE W) FIHHRE - 0| REHEH: 0~3

TI3—LERHETHE, TI3—LHAmFAOHASNES, 75 —LRERDOT 5 —LHNiHFOE
LEBRETDHENTEET,

0: 75—LREDER

) —SBERET I -LREEDER

BRBRADNBLELGT S—LEDLBETHEVNT —LDOER

Y —ZEERERGT AT I LR LANT S —LDER

K7 I —LHNIFEFOELEREDFMIP 13 75 —LHARFOELER] ZSRLTI LW

W N —




P L ABTOUEREORR (o) [FIBE 0] REE 0, |
Ao Hi 784F0) OPEN - CLOSE 0091 B % £ RIEE € 5= EATEET,
0: 75— LM AHTORLREORY I<HASNET,

1:0DBLEFOMEELET, FELAS: 1 OB, IHF 2-3 MICREEEIBEE A,
KT 7—LHNGFOENLREDOHMIP. 13 (75 —LHNHFOENLER) 2BRLTIEIL,

CEEE— FORE (N FMRE : 1| RERHE : 0~3
n H—SOBEE— FERELET.
0: SEEE

1: BT REEOD
2: AT 1 EHQ
3: BIEEHQ
XEERE— FOFMIEP. 14 T4-7 BERE 2SR LTLEEL,

7| ATHREEOD Y —FBEMMORE (1) FMBE 7] REGHE 1~60%
e LT REBEOICRE BN —SHMERELET.

| XrM: 3D, RTRENFET,

AT M ELELER BUBECTE2ETOBMERELET . 30T L vy S OHEEL ONOFF

!:E’ T T AT DELBRONRE (12) FIRIRE 3| HEHE : 3~1045

I EZHC=O. COMIREREULTH ) —SERERIBLEE A

"V I RO TNR—=23 vDRERESN)
Lnm AU RA—S0YT YT TOA—D 3V ERRLET. EERTEEEA,

OBEMETLELD, Pet [R2U%E 3 HLULEMLT LS, BEOFvERy FREERTRICOEY, BF
MEEshET,

ONRTA—BEFEToTNSEE, 0 HERY L EMEHASBEFRESBEBEIATISF v ERY FREERT
IZRYET,
BENRTA—SLTEETIHAE, Set|R2 & SHLUERBLLTLEE,

4—6 TI—LHARFOEHY
TI3—LERETHE. TI—LHBNmFALHAESNET,
TI—LREROT I —LHNGFERET DL THRAGBENDEREZTHENTEET,
COFRFEIFINTA—FDAS L A ZEFTHETHELET,
V—SOBEREARNSIHEF 1-2 ., #HF 2-3MMNEBHICOPEN £ > TWEF,
BREAZ, HAWMFLINELETIC0.8HDEALZIITARHY FT,

(1) 75—LREDEHRAS: 01 [#HHRE]
D—ZEBEOEEIGREDOLT. TI—LREOAEICKELT, 77—LEHNRFOKRENELLLES,

(2) V—F8EET S—LFEEDERAS : 1]
J—JEBEOHEET I —LEEDFEICIEL T, 7I—LHENHFOREAELLLET,

(3) BRBBANBELT S—LELETHVNT F—LDERAS : 2]
BEER. FBHERO7S5—L(EL B3, B4 E6, ET) &, BROBRANDERLRT 5—L4 (B5, E8, SE. tE) DRAED
BAEICG LT 5—LHANRFORKRENELLES,

(4) V—FBEHREZMHBTEITI—LEMBBELGEVT T —LOEERIAS : 3]
V—JBEEMKT ST I —LEI B LY —SEEREMR LAWY 5 —L (B3, ES5, E6, E7. E8, SE. tE)DELE®D
BEICIGLCT7 S —LEHARFOKRENELLLET,
KO—FEBEEFIVTLYILEEL, FrERY FRBERKONSASRAELIBDZ L EELET,



75— LHAimFOEIZFR Ao : 0]

imF 1-2 &

imF 2-3 4

AS
B 5 —35niREE Bk B 5 —35nikEE 1 R BE
WFRAADTS—LFE | 7I—LFEEEL CLOSE | WFhADTS—LFE | TI—LREEL OPEN
0 | KEBICK Y., BANYE KEEIZ& Y, EANYE
YET FS—LELRY OPEN YEF 75— L%EHY | CLOSE
. 5_— FS—LEKEHY CLOSE b —55EERth CLOSE
LIMOT 5 LRE | T b —SEEOREI LY . EE
1 | REEISK Y, EANYE b byt
YET FS—LBEEL OPEN ™ Hy—SBEgfE ik OPEN
‘ - ~ E5, E8, SE , - E1,E3, E43% E6 E7
BERBBRANDELTS | 55 margy | OOE | BRERASBECLEL | 55  aangy | CLOSE
2 | —LoREREIZEY, e o 75— LOFEREIZL Tk o B
EASYIBYET S, Y, EENBYES B9, B4, G,
FS—LRKEEL OPEN F—LEEEL OPEN
E3, E5, E6, E7, E8, SE E1, B4
3 | PS—LOREREIC YT S—LDFEREICLY . e
LY., BEaLYEYET 9 D B0 EY, EaAYEYET P DR
FS—LRKEEL OPEN TS —LFEEL OPEN
XE47S5—LIEFo(P.11) : 0 DB, HAShFERA, L, RRARIVICEEERTRSAES,
75— LHARFOEILZE A : 1]
AS W 1-2 fd ¥ 2-3 fE
B 5 —35DiREE Ak 55 8H 5 —35DiREE 1 R BE
WFEhIDTS—LFEE | TI—LREEEL OPEN WFENIDTS—LFkE | TI—LREEL CLOSE
0 | KEBIZK Y., BANYE REEIC LY, EAAYE
YET FS—LELERY CLOSE |[HYFET FS—LEERY OPEN
- 5_— FS—LREHY OPEN b —55EERth CLOSE
LINROT I —LRE | 77 H—SEEORE LY. 7
1| REEISK Y, AN A ) £ 5
YEF TS—LEEEL CLOSE - H—SBErfE1Lh OPEN
] N ~ E5, E8, SE ] . E1,E3, E43%, E6, E7
BRBBANRELT S | p5_ margy | PN | BRERASBECTLEL | 55 sy | OPEN
2 | —LoEREIZEY . —_ 75— LDOFEREIZL T T 6 B
EASYIBYET B9, Y, EENYBYES B9, B4R, ED,
75—szem | CLOE 75—szem | CLOSE
E3, E5, E6, E7, E8, SE E1, B4
3 | 7S—LoREREIZL AT S—LMFEREICLY e
Y, EANYBYES B9, B, B/, ES, EaANYBY ET B4
75—szem | CLOE 75—szem | CHOSE

XE4 7 5—LIEFo(P.11) - 0 DB, HAShERA, EL. RRARILICEEERTENES,




4—7 BEHRTE

V—JREEFKT S L. BERE-FTHAELEYS,
MHPRETEI—SDREREIDC, T4 IT77 LI vILSCITRELTHYET,
LE=A2 T, FrERY FADEEMNBCTIV T LY YLEME, V—JBEZRMIL. 30CTHELELET,

BEE— FIE, AF 77 > 0&EEER,. AT REGD. @. QN4 E—FILERTEIZENTEET,
BEEOBOLEIEREIIUTERYET,

- BERBEICEFYERY FADREATYERY FNATGET S—LEBEUELEDFZEICE, AS, Ao DFREICLY., P.13
(7 5—LEHNHFOEILR] (CR-T, 7I3—LSVTHRITLET,

- —SBEMNMFELTAL—ERM FIHRE:39) X, FYERY FADEENREREF TERLTHI—3E&
BETVEEA,

(1) EfEe
FrExy FROBENETEE

ax AE /m

ETEERL, V—S8EFIEEETHSMI 7 -2V TLydMIMELELET,
N7 7 UIXEREELET. ( ) AORTRIFVMHRETT .

RERBE (35°C)
FT4I77LrI¥)L (5°C)
9 —SBEREIEEE (30°C)

NEgoFr-arTLyy 0N
OFF

REZ77> ON

OFF

(2) AT rEHD [MIHRE]

FrERY FADRENI —SEERFILEELY BESLDERB T 7 oA 30 221 E., 30 HEOERELZEITNET
COFEETICEICE2>THFYERY PADRIEFYEHLTEENTEFT ., ZBLREV—FEERZE L TLVEWNS
B, NI 7 oW REREEZELGHIETEHIRERYFES ., ( )NORTIIMHRETT

= N=]

RERE (35°C)
F4I77LrIvIL (5°C)
9y —SBERZIEEE (30°C)

%%77>ﬂ>7bv#8N

REB77> ON
OF

[SpE =N

CRET 7 VXA EEBREDCO. V—FEHEMEILLTHL S HRITFEIELET,
XY ERY FADRENY —FBEREFILEEULICES LR T 7 VITERMELES .




(3) AT REHQ
RE T 7 VDEENY —SBELEEBLET,
RIFGHEEV—FBEZLTVENMES, AT 7 VEIELETEIETEIREGEYET, ( ) NORTRIIMHHRETT,

BRERBE (35°C)
T477L2ivIL (5°C)
9 —SBEREILEE (30°C)

NEoF-aVTLyHS

RE 77>

EE
TRE T 7 ALY AETERABESNANC LISLY, BRNARELR G E ) ARET 5 AR
BYET,
- T 7 VIEAREBREOLD, £ —FBEAELLTHS 5 HRIBLELET,

(4) HIREEQ
FrERY FREENREREUTICASNY —SBEFILEEF TTALLIMERIC, ¥ —FEEH & FIEFRRMZ &
(F.—EDHAIILTON-OFF FRHICEY . AIRERBY TS /NFTA—FEREL £ t2(P. 11745 IRFA—FEKE])
TY—SEGERHEFLERMZRET S EATEFY . ( )RFPHARETT .

£HERY MABRT T—ARE (45°C) =-mnmmrmmrssrmmmmmmmss oo ooeoooosoeeoooossnoeoe ING--nne e

- G O | -4

FT4I77LrI¥)L (5°C)

5 —SBERAEIEREE (30°C) oo\

%%779-3>7bvﬂ(%£j A — F—4 __________ P_4 __________ %L
77> O i I o I s T — T —
> 30sec_. |30sec tl | 12 | tl t2 t1
I 30min 1 30min i
X¥NET 72 - VT LY HEREERFD Y — B (745)
NI AT LYyHDOEIEER ()
ZiEE
A Ty E—ERE CREMICEEELIESLO. FvERY FREBENEREBELY IS HIHEN
HYUYFET,
F. FYEXRY FARBREAKZWNGE, FrEXRY FREBEEAFYERY FRNEEB7S—LBELUEIZLS
HELHYET,

*FrERY FREBEEOBLERHIED-O, RELLY —SEGHETREREETTALBMGEEF, FrERY
FPREEARERELVESRSIETI—JEGRETMELET,

C AT 7 VIEARRRRECO. —FEEAMFLLTHS 5 FRICELLFES,

FrERY FNADEENY —SEGREFILEEU LIRS ERMT 7 VITEREBELES,




5. 73—, - REMEE

5—1 773—AL

(1) [E1]: $xExy FHERTI—L4
Xr By FNRENLC WEBRE) ISHEE. TI—LTUTNEATL, 75— LHAHBFAAS, Ao DFEIZLY
P AT S—LHAHFOEILRIESB N LET ERBICEIREDF v Exy FREEE[E 1HREICERTSA,
FrEry FNBEOBRESMOELET, COB., V1 —SEHRIELLEFA, FrERY FROEEN 43C (1)
HRE) UTICGdE. 73—LSUTIERETL, RRBIEFrERY FRBEOANRRTINET,

(2) [E3]: MBEET5—LA

TANERT4VOBEFEY. 77 VE—AOBEREICEY Y —SHARBREREICH S L. AREBRROKRBERR
HBEAMEBIL., V—S8BEREEBLESEFET, COF. 753—LSUTHREATL. 75 —LHENIHEFH AS, Ao DEREICK
YPA3 T7S—LHARFORILE) 288 HALET, ZRBICEIRENF v Exy FREELE SHREICERT
Eh, RBERZHMOELET, BESRLOSetRE L E SHULRMLIST, 75— LZBBRTEET.
Y—SDEREGY. T4LEP T v DERBEUT7 VE—ROXM|EToTLEEN, V—SOERERAR. B
BRESRESATVRISE. BEERELGYET,

PCN-230T-2, PCN-300T-2 IZD W\ T, LEANBZERE L THLHEBRINGTMGEE. BAFICKYVRNBORERY—<ILYL
—PEBLTLRAEESAHY ES. TROFIETY £y bREVERT I EIL Y. TI—LERBRT IENTEET,

A =&

o BITI—SDBERZEYIY. 77 VE—FINBLELTHALEREE >TSS,

Y=< L—ty bAE (5l - PON-230T-2)

D71 AN FRRLF vy TE @758%HLET, Uty bREVERLT
RIE/ SR ESN LET. BERL TS,

o 7 AR 75 mitfal 4x8

ENTL  fplFeyT

o B
e

SOOD

E N

SO &

eele o
Y=L L—EKE

t‘

Eififa L M8 7
S

Jty kRa2

T Y=L L—

(3) [E4]: »UFFoREMDHHEE
H—SOREBGEMN. BESNEAVTFUABHALEHMICETSE. TS5—LASUTRALL, 75— LHAK
FAAS, Ao, Fo DBFEICEY P.13 IT7S—LHAGBFORILE 28R HALET, BEOFrERY FRREL
[E4|XEIZRRLT, *AVTFURBHESMOELES,
COB. V—FEEEELELETA. BE/SRILOSet[RE U EBMLTT I —LEMBRL T AL,
H—SOERENY. TALEHBEDAUTFURET>TLEEL,
AVTFURBHLEBHOBRELEELSAE. ThETOREBME Yty FSh IBREYDYY FEhET,

(4) [EB|: BEEHBRT 5—LA
ASADEETHEREL VAWK LIBEIE, V—SBREBLSEET, 7I—LSVTHREIL, 7I5—LHD
BHFASAS, Ao DEEICELY P13 T7S—LHNGBFORI LK) £88) HHLET, RRMICHESPERRSNET,
H—SOEREYY . BHOBERERECTERCLEEL,

(5) [E6]: FLYKBETS—L
FLUR—ROBEFYREIZEY, FLUKDRBEERE S E, FLUAYVIZRIFT bRz T 0— R R A v FAEE
LY —SBERmEBLESEET, 75—LTVITNETL. TS5—LHAHFAAS, Ao DBREICEY P.13T7S—LHA
WFOBILK SR HNLES, RRBICERENFvExy FRBELE6NRAEICKRTESN, KLUKREES
Mo LET.
H—SOERENY. FLUKR—ROBEFEYREEBEL, FLUKDNERICHESAS E. Y-S FEBERICLYES
BHEBRLET.



(6)  BRRBRIERET 5 — L
AEBT 4 DOBEFY. RAT7 7 D OBELEICL Y, AEBIORTIREN O CUTICHE > =5HRICE. ¥V —F5&&EE
BLESEET, 7I—LTVTHRET L, 7I—LHAHEFAAS, Ao DBEICEY (P. 13T 75— AHNHFOEILEK)
*BRHEHLETS,
FRBIZFREOF v Exy FRRELE 7MREICRTSA, BXBRBOEEESMOLLET,
BSOSt R U SBUERMLICT, 75—LEMRTEET,
H—SOBREEDY . AT 4 L OBERBLVRB I 7 VOXMET T HEEN, V—FOBRERAR. BERE
PRESNTLSIEE, BEERLELYETS,
(7) HRBRE T U YIRT 5 — LA
AoADEETARNAOBLZRBREL L YNNRLISEIE. V—FBEREBLSHET,
TS—LSUTHRAML, 75—LHAHEFHAS, Ao DFREICEY P13 T7S5—LHNBFOELR] 238 dHAL
. RRBICFEREOF v Exy FRERELE SRRENET,
H—SOEREYY . BHOBERERECTER S,
(8) [SE|: ¥RFLIS—
ATYDBEICEY ., NS A—FOREBENEL CHARDBVHICHELET,
KTREIZIHS EDHBEFENET, 7S—LTVTHRRLL, 7I—LHAHFAAS, Ao DFEEICEY P13 TF75—
LENHFOELEK] £3RHALET.
H—SOBEREYY . BHOBSERERECTER LS,
(9) [tE]: 51715
¥t D BERHIEREIC BB LS,

5—2 REHHE

FUBOREWEL LT, BERERCERRETIIEREELLET,

Z0B, 75—LIHE 1] FHEBRELET,

Tl RLUAVIZRTFET70— R XA v FIZEY, FLUR—ABEEYKENE B BBISE Y —FBEREELS
H. BEDRLUKDREEHEET, TOB, 75—LREGHRELET. AYV—FEZE FL /S THECHS
TEY NRRLUAL TOREEY R EICEYKDHHEENBNEETE 2R KLU TISTRERHEE S0, Fv
Exy FRISKBBATHC LIFHY EE A,
FARNBORIRBICHFBELUFITEY . 77 OBEEE TRIRENIET HRECELEEACII—F
BEREBLSE, BXMBOREEHEET, TOB. 75— LFHE7PRELET,

A =&

AUTFUREFAOSHER. BTV —SDBREOFFICLTALHERETOTILESLY,

FERT A RLIE. EFESNZLDOZEEAL TS0, RFITORE, BEMHT LY ISTRHMAF TS0, #HiT
FAT+RRIEE, BB - BT -FED I PHENGEONGVREICGYEY, =, T TEEDEEE,. HamE

6. *TFUR

WRT BHETNNBY T,
R LORY BERTTFL2 N KBS ML IE AT THED LY
ar o N AN b e ) o 1 ‘;TE, = )
B (LIt L Hex @ 0.7~1.2 L7 Y B MUY S ORY T
0 28l 4x8 Ciets 5 Y Feh.

ERRERM4LC 4%8

{4 C M4 x 45
F7—A1 L M4x6 0.7~1.2
RE T 7> | BEfd4a L M4 x50

T7 UoRMEEE, FROEEDREEZERALTIEZL,
—EREB(TILIT4 ) BERBAROBEITEMT &, TADRRAICHEYFET,

NET 7

c TAIEERMT HIRE, BHIBED T AL FEFEAL TS,
—BHOMMGE T4 LEEERTHE. BMBDEATAY ., BEHEANDET - ®BEORHEICHZYETS,

CS) FRICHOY—Z Vo TOA VT F U ADEEZESELRNTESLY,
EEESHEEEFZFERALTOEREILGENTCESL,

J—SOAEERIHUEFICHELEDRETHIZSN, SLITU—UTIAMELUV
TAMEGZ LTHALTLWETOT, HEREROAVTF U ROBEEHY FE A,
EENFNLTWEIBETI A2 ZFERALTVWSEAE, 1EMIC T EULIXAK -
BARELTLESLY,
TA4NLEADEEFVICEYANBEANMETLES ., TERENVBS. OV TLyHIC
BRHENY ., V—FHEFELELET,



6—1 TA4ILEADAVTFUR
ATE/SRILDAA FEY T4 L2 ZIREHL, BiF - KP|ETH>TLESL,
OXBAT 4 ILE

J4)L% (BE)

LESEGE R
PCN-F1 PCN-30T-2, PCN-70T-2
PCN-F2 PCN-110T-2
PCN-F4 PCN-170T-2
PCN-F5 PCN-230T-2
PCN-F6 PCN-300T-2

6—2 HET7OKH (- PCN-70T-2) g
WNERT 7 UDMBEL=LZIE. UTFIETI 7 v OXMEITOTLEEL, .
DV —SDEREU > TN,
QHEEAN—ZFZRHLTLLEEL,  (BIE/SRILEfT42 L M4 x8) BIE/ SR IL
QERDODANEH 77 v EEE L TWWAE{TIM4a C M4 x45 #Hst L TL &1Ly, Eftal
@77ra—F, 7T—RR. 77 VIRFHOOEBILERFTL. 77 0% st\\ Lk
B L TRBLTLESL, L
OWMHNLE=FEDEIETI 7 vEI—F~ARMFIFTTEL,

B
C D7 a— ROEARAKITILIELTLCEEL, .
D T ES DR AT AT &L, B4 C

M4 x 45

6—3 ANET77DxKH () : PCN-70T-2)
RET 7 oAHREL-EEIEX. UTFIE
TI770DRWEFTH>TLIEELY, ?

DY —5DEREN T &L, 73BT 4x8 7%
QRIEA/N—ZES LT &0 @TE/ SR ILE{Ta L M4 x 8)
@I7HEEMILTLEEL, (74t 4%8)
@ERREENALTLLEEL, ERRI{ L 4x8)
OWET7 7 v EEFEL TV HEF4 L M x50 ZE5 L TS EZELY, e BRARERT
J7va—FREEFL. 7 UERMHLTIESL, S :
OXBTBHLNT 7 U277 VBRI — FEELRAAER,. 77 0% B — N
H—F~BFHTFEL, Bffa L MAx 50 —
CTHEE 77— FOBAAAITEELTIESL, K& T 7 > ;

@ERAKR., 7%, BIEA/N—, OIBIZERFMFFTL I,

OXRMATI7 v
RS NE T 7 AERAK NE D 7 UERK
PCN-30T-2 1
PCN-70T-2 1
PCN-110T-2 2

2

2

PCN-170T-2
PCN-230T-2
PCN-300T-2 2
KNI 7 ENBT 7 VOREREEGYET, 77 oRBOKRIT. BHOBSEHREREICTER LI,

1
1
2
2
4
4




6—4 ZDOL5HEEICE

BE REA R
X ERY FREENENY | a. TL—AAPN T —SIZERN a.IJL—hZEONIZLTY—JICEREHA
TES, HImShTULEL, LTLEEL,

RRAHEL,

- ¥vERy FRBET I—L4 (E)
BWREETS5—L (E3)
ERRLTWLS,

b. BREBELYE Y ERyY FRRES
1&["0

c. REREITAHBENAB LA,

d. v Exy MUBELRETE S,

e. FrvEXRY FREENSTES,

f.74LAMNENATINS,
g. NE T 7 A E > TULELY,

h. A& T 7 HE > TLVEL,

i.va—br—Fy BB ETNS,

b.RERELTYERY FREEZHEIELT
&L,

c.HREREZLTFTLLESL,
FEI—SFAMBEANKELVICRZ T
&L,

d.¥vERy FEREMNHL0CERBZDIEET
IIERATEEEA,

e. v ERy FRBEMN+H4°CEBZ HBETIX
FHATZEEEA,

f.24L3ZFFR/LTLLESLY,

g BEBELXVYERY FREEZERLT
CFEE&ELY,
T7UNBELTWAIGEEIZIE T 7 U EXH
LTLESLY,

h.P.10 T4-4 58V —S&#x) ICTHET 7
UNEERT AAFER L T ZE0Y,

B LAWNEAF. 270X LTLE
=AW

i.P4%ESEIC, Ya—bF—FyrEREL
TLIEELY,

XY ERY FREEATAY
TED

a. REREZTITFIETNS,
b. NEERFITERE L Y OHE,

a REREZLEFTILZELN,
b. BHDEEHRBREICTERCIZELN,

- FLUKEET 5 —L4 (E6)
ERTLTLD,

FLUKRRRTOANELY,

FLUR—RICEE Y PHFALSZONERL T
S,

- BRIZ2T HKAZL,

v ExRy FOREENEL,

FrEry FOMBEEHT SEEELFT
{EEL,

BB ERRLTLS,

REREE Y DHEE,

MU OBERBEREICTER LI,

ETERTLTWS,

RE T 7 UHE > TLVELY,

T7oERBLTLESL,

. E8 %iﬁ L/_Cll\%)o

RX|BFREL T DHE,

BUADEERMBEREICTER LN,

-SEZRRLTLS,

AE DEPE,

MU DOEERBEREICTER LI,

-tEERTFLTWS,

MU OBERBEREICTER LI,

FERAPICEENELCLHEICEIERTSI0EPH, BRE OFF [ L THHOEERMBHREICTHHKI 2SN,
BE. CHRSNIERIZE., 7/ —S0RABESHELVIBARRZESMOE S,




7. #

7—1 FEARK
mBREE PCN-30T-2 PCN-70T-2 PCN-110T-2 PCN-170T-2 PCN-230T-2 PCN-300T-2
AHEEE X 300/350W 600/700W 950/1100W 1550,/1700W 2100/2300W 2700/3000W
EREE B AC200V 50/60Hz =48 AC200V 50Hz/60Hz
jjfi & 1.4/1.2A 2.1/2.1A 3.3/3.2A 3.9/4.0A 3.4/3.6A 5.0/5. 5A
jsz 5PN 1.5/1.4A 2.5/2. 6A 3.8/3.8A 4.4/4.8A 3.9/4.2A 5.9/7. 0A
REER 3.8/3. 6A 6.7/6.0A 13.1/12. 1A 15.0/13. 9A 14.8/15. 5A 18.9/20. 4A
ggff T 230/230W 400/410W 580/640W 710/790W 940/1100W 1430/1710W
%2 =X 260/280W 490/510W 690,/ 760W 830/950W 1130/1320W 1780/2220W
EfEHE EENMEH 100W 2750 3750 5250 850W 1300W
BE (A #361dB #J 64dB #9 65dB #9 66dB #9 66dB %9 67dB
- B, B HFO, R1234yf
HAE 140g 190g 410g 500g 580g 1580g
tﬂﬂ.iﬁ;‘%ﬂ%ﬂ:%%ﬁ <1
(GWP) 33
sME <t WxHxXD 454 (508) x 551 (600) x 603 (650) x 596 (649) x 655 (710) x 765 (820) x
(mm) ¢4 230 x 253 330% 273 349 x 355 446 x 353 444 x 403 444 x 403
ArEE 16. Okg 23. 5kg 33.Okg 37.Okg 47.Okg 57. Okg
B
Bt AE RIFERHE
fEREEC X5 FrERyY bHR+20~+45/F ¥ Exy k5+20~+50
{5 FHIE EE%RH 8O LIT MEBEECL
REREHETC X5 +30~+45 (#IEIERE : 35)

e XrERy hBE., 75—La— K/ BES YT/ FS5—L50T
FrERY FABREERE, MAERERE. BEt U YEREH
Hge AUTFURABHBMoE R M4 v —, RIRFREY —F B
FLoKA—/N—T7 00—, T/\RL—42 BkiEH
SVERHE A1 7S5—LHH Ta 240V 1.5Ax 2 tH 4 (CONMON 3£:®)
it #x B i REN%L 10~55Hz  #RiE 0. 15mm  #&®51H 0 )L 10 [H
REE® WMEREIR  IP54 4R
ENC #54 EN61000-6-2., EN61000-6-4 4L
i;i: BEEHES EN60335-1, EN60335-2-40 and EN62233
BRI RoHS
ZRE YHAZE 5Y1/118%
t@@%g% 250V 1A

X1 XY ERY MEBESLUFYERY FREBEHI+ICOBZEDAHAENEEANTT,

2. TEH] EX v ERY FMABES LU v ERy FRBEEMIBCHIFEE. THRKI ¥+ Exry F4EES0C,
FvERy FRBREN+ILCHOEEDATETT .

%3. [PCC 55 5 R L 7R— k 2013 BH&,

4. 5HED () RIERA ISV OHMESARETATT,

X5 RESHHEN TIXERATEEEA,




7—2 WEARA

& F PCN-30T-2 | PON-70T-2 | PCN-110T-2 | PCN-170T-2 | PCN-230T-2 | PCN-300T-2
5 —S Ktk 14
HAARIL k M6x30: 4 7 M8x30: 43
WA ¢ M6 : 40 M8 : 42
RTYLT Ty % M6 : 42 Mg : 42
Fyk M6 : 42 Mg : 42
ASTE 18
FLYR—R 12 (5m)
L #=F 23
mFaE 13
FS5—La— RHEHL—IL 1 4%
HUREHBIE (R HR) 1 %
7—38 HETiER (BT : mm)
PCN-30T-2
<t@EE>
) fBES &0
) FrExy MIES RED)
<EEE> <@@ER> <®@EK>
k%sz(#&)b\\\¥\\\‘ 454 7.5 253
||t [ o il
& I il
. | ‘ 1 R .
oAU AER ARUAD) MR oA A U kLI e [HE
(R&A) TRELYSA T BMES12)
<TER>
508
s g
P | e
gm " 80 14§




PCN-70T-2

SEEE> 2ms om0
22,5 201.5_, ‘:_\j
0 |
3
§ DS 90-M8 EX 1374 M
§xrExy MIESE MED)
<E@mE> <@E@EE> <EEE>
ﬁwﬁl\o*»\i\ 551 i 7.5 273
e —
2 \ s
| NS
\ XxEry kot Sl= 126
FrEry MAZS  ASHEED) BAOT LAE) PRELVIAT G EG12)
(R&0) -
<T§E> 1RELYIRA T BB G12)
0 o
ﬁ%é\\ =
LO I [Tel
§ =
U
O
g» 10 580 10 o
PCN-110T-2
<E@EE>
{ES #E0)
20,5 226.5 o
a a
\\ E
\\ 2-M8 FE 13 74RIL A
b £vetry pizEE RED) N
<E@EE> <EI@EE> <HEE>
BAESRIL 603 Q)N(L)‘
S ¢6)
\
t \ FrExwy bt ale e ,
FrEry bAER  ARGFSD) RADIALEE) PREL T (AES1D
(R&0) <TEE> 1RELYSA T (B O12)
650
s L =
I 7
o a
N I~
m\\ a
—110 109




(BA{SL: mm)

PCN-170T-2

<LtmE&>

fEES Hxa)
24,5, 238

; N

N

o
o

/255

d 2-M8 FE 13T AR
f¥rEtry MAES (REA)

<IEmEE> < fAlmm & > <=EmBE>
2L 536 . 7.5 353
3 e
LT
LI, FrERy M i
#v5$/hm§m AR HRO) BADT 4 LA (8)
(R&0)
<TEER>
B49
‘m%éé\'l 0 | _
P 4
14,5 620 14,5
PCN-230T-2
<tmE>
tER (HR0O)
76, 2395, o
. S|
o 2-M8 ES 1374 R)L A
f FrERY MES (REA)
<IEmE> < BImEBE > <Em|mE>
BRI 655 i 8 403
= e '

444

* 'Y FrEry b
FrEry MAZE ASHRO) maAnzsLa@E)
(k&0)
<TEE>
710
W%ﬁ\i &
aL T
(5 680 153

25
55

2RELYNA TMES12)
TRELYINA T (5MEH1D)

2|




(B {31 : mm)

PCN-300T-2
<t@EE>
BS (HS0)
98 99.5 )
a =<
\\\\\&
N 0-M8 BE 13T A KL R

b FrERy MAZR (REA)
<IE®ER> <@EmR> <E@ERE>

BEARIL 765 8 403

===

444
S
=

o e 3 ry

: A FrExy ko I3 e
ﬂigkéz)‘wmgm GRS BART A5 (E) 2RELYRAT B ES12)

g D > N o p

<TEE> 1 RELYSS T G EG12)
820
f“%e\a =
il i
2L i
15 790 15 3
8. BEIZDOWT

FURERETDHEER, V—FICHTIMBEZEITPENRTASA TV LIARZHRE LR, TREDOLERVER
[CBET Sk ICHEL. BRI EMOERREMREREICRRLTRELTILESL,

A\ g

@

REDBVAEEIAMKADZELHYET,

AEFERIYELV O, BBYDBEWNVEHITHRET S ERAICHET HRREAHY ET .
AERHEERE, KRERYKRSBFAZET, BRORVMEFITLET DMHELTIEZEL,
AEBHEFICAOAFERIFTHRHELGVT S,
A—RALSEEBTEMDBEERZTTIZE,




1. Safety precautions
@ This product is an industrial cooling unit for control panel. Do not use this for any other purposes.
@ Be sure to read these precautions carefully before starting operation for proper use.
@ All the warnings and cautions described herein must be observed in order to use the product safely.
The marks and their meanings shown in this manual are as follows.

Means “Strict prohibition”

Improper handling is likely to lead
A Danger bor g ’

to death or serious bodily injury. . ]
This is to draw “Attention”

. Improper handling is likely to lead Means “Obligatory action”
A Cautlon to bodily injury and/or property

damage. o .
This is to drawn attention for

“Rotating body”

This is draw attention for
“Electrical shock”

>B|@P|O

A Danger

A Never touch the terminal board while the cooling unit is energized.

A Caution

Never remove the front cover of the unit during operation. Do not put your fingers or foreign matters into

rotating part of the fan.
Always disconnect power and wait until the fans stop completely before starting work. Failure to them can
result in injury.

This product is for indoor use only.

This product should not be used where inflammable gas, corrosive gas, oil fumes or dust which may affect
insulation are contained in the air.
Failure to this may result in short life or damage of the unit.

® Shocks and vibrations should be strictly avoided at the site of use.

Never tamper or repair the main body.
Please consult with our Technical Support Department for repairing service.

The product should not be placed sideways or upside down during storage.
The atmosphere of the site of storage should be within the temperature range from 0°C to 60°C and humidity
range 85%RH or less free from condensation.

Ensure smooth air circulation at the site of installation of the product.
Failure to this may degrade cooling performance of the unit.

Keep upright position during transportation without tilt.
Never transport it without dismounting from a enclosure.

The atmosphere of the site of use should be within the temperature range from +20°C to 50°C and humidity

0 The internal temperature use should be within the temperature range from +20°C to 45°C.
range 85%RH or less free from condensation.

Check for damage on packaging when the product is delivered.
Do not use the product if any damage is found. Any packaging damage may be a cause of malfunction.

Should the refrigerant leaks, place the unit in an unsealed space away from fire.
This product uses a slightly flammable refrigerant which carries minimal risk of burning.

Avoid using other filters than enclosed.
Use of fine filters will cause efficiency loss in heat releasing which leads to reduced cooling performance and/or

breakdown of the unit.
A This appliance can be used by children aged from 8 years and above and persons with reduced physical, sensory
or mental capabilities or lack of experience and knowledge if they have been given supervision or instruction
concerning use of the appliance in a safe way and understand the hazards involved.
Children shall not play with the appliance.




2. Mounting

2—1

Caution

A Danger

A\

For prevention of electrical shock, power supply to the control panel should be disconnected before installation
work.

A Caution

O

For installation, do not use any parts other than originally supplied ones except hose band.
Failure to this may result in injury or breakdown of the cooling unit.

Ensure to work in more than two people when transporting or installing the equipment.
Failure to this may result in injury.

Ensure sufficient strength of the cabinet to install the compressor cooler.
Due to the weight balance when installing the compressor cooler, the load capacity of the ensure, the ensure
may fall over or deform.

Use the specified screws. When fixing, tighten the screw with the recommended tightening torque. Insufficient
tightening may result in damage, falling, or failure to achieve the designated protection performance.
Excessive tightening may damage the product.

Kind of screw Proper tightening torque N 'm
Fixing bolt M6x30
2.6~3.6
Fixing nut M6
Fixing bolt M8%30
6.2~7.2
Fixing nut M8
Front panel fixing screw M4x8 0.7~1.2

Cut out the mounting surface of the enclosure as specified in the drawing of Page 29.

Compressor Cooler must be placed horizontally and

perpendicularly within a tolerance of =2° in order to keep Compressor 90°
stable operation of the unit and to make a smooth drainage. Cooler %

N
Enclosure 90°K

Locate the unit so as to assure good ventilation and distance
of at least 200mm from the walls or other units.

Also, there should be no hindrance to the air circulation 200mm or more

inside the enclosure. e /‘/
Failure to the above may result in poor cooling performance
or condensation. 200mm
or more
Compressor /
Cooler %
Enclosure
Wall , other units




A Caution

The supply voltage must be as specified on the rating plate of the R Breaker for
unit. ) ) ) Leakage
Electrical connection should be made via appropriate an earth
. . ey
leakage breaker as shown in the right. ° " %
Ground the wire without fail to prevent electrical shocks. <% Compressor
* Recommended Capacity of earth leakage breaker E Cooler

- PCN-30T-2  Rated current 5A i A
- PCN-70T-2 Rated current 5A W
- PCN-110T-2 Rated current 5A l %
- PCN-170T-2 Rated current 10A =
- PCN-230T-2 Rated current 10A Earth
- PCN-300T-2 Rated current 10A

For earth leakage breakers, use a reference value of 30mA for

sensitivity rating as a guide of selection.

Ex : Single phase

Electrical works required for installation of the unit must be done only by specialists. Improper installation may
result in electrical shocks or fires.

For protection of the compressor, wait at least 30 minutes after installation before connecting power to start
operation.

Hermetically seal the enclosure all round.
Inferior sealing may cause condensation which lead to poor cooling efficiency.

Put covers on the components inside the enclosure to protect them from cutting dust during installation work.

[Short circuit]
Electric components or other objects near the cool air outlet
may disturb cool air circulation. If the cool air hit against
them, it will directly return to the suction port without being
distributed to the whole area in the enclosure. This causes not

Rectifying plate
\gCo/m/prgsgor/Z

Cooler

VDAL AL

only troubles of the components but may negatively affect ’ \I ~
operation of the cooling unit which lead to overcurrent and
product failure. C_OO'
In case such short circuit is found during cooling operation, ar l
improve the environment by attaching rectifying plates or
installing agitation fans as necessary. L

/ &

7 N
Control equipment  Agitation fan




2 —2 Mounting procedure ( Panel thickness range: 1.6 to 4.0mm)
(For accessories, please refer to the paragraph 7-2 in Page 44)

(DProcess the mounting surface to cut out the openings in accordance with the respective mounting cutout drawings in

Page 29.

@Place the enclosed sealing plate on the bottom surface of the cooling unit.

(@Align the unit to fit the cutouts.

@Insert the enclosed fixing bolts M6x30 or M8%30 into the mounting hole from outside of the unit. The size of bolts

differs depending on the model.
®Fit the washers M6 or M8 and Spring washers M6 or M8 and the nuts M6 or M8 from inside the enclosure and secure

them. Tighten the screw with the recommended tightening torque.
®To ensure keep the panel interior airtight, caulk the gaps completely, if any.
@Apply the enclosed “Alarm code explanation sheet” to an appropriate place where readily visible.

lllustrated mounting procedure

Compressor Cooler

Packing
“accessory”

Mounting surface
with cutouts

Fixing bolts Alarm code explanation sheet
M6x30 or M8x30
“accessory” 877-La- (B8 Descripfions of alarm code

y e ?Eiusssm How ta?u’n‘cﬁﬁs alarm

R e
=1

E1

T
The alarm I autonafically
cancelled yhen 1he température hos
F follen for he differersial value
Deferiorgficn or sloppage of fan from e’ sef vale for e aiarm,
The amisert lemperaiure & foo high

Washer M6 or M8 | R e o

Tensd
e

e
A P

B Pt
“ ”» E3 | murors Adler conpleiing ifenance vork
accessory e 5 clogpe (o e B SR
Deterlorofion or sloppage of fon. 0kl down Hie uton ta cancel
“The aniaen 1emperburs & foo figh. fhe_diam.

s ARG
Hrintenance reninder o PUS—,

Spring washer M6 or M8 B4 |, {0 o P B i 1o cce

£
<The aceumulated runnig hours has reached |fhe olar
the sef tie for naffication.

“ » R gy s s-soRaEn)
accessor g5 |Tempsensor disconnection alarm FomisaRiEv.

Internal temperature sensor foilure. confact the suppiler
FroA®R 73— uFh 7 (F0a)

Fixing nuts M6 or M8 e |EE e T ey MR,
or oot o y By deaning up Ihe clogged hose:
‘Drainage prablen

‘accessory” R =

BT [ e ype erly Adter replocing the fanthe alarn is

vy i
Deterioraficn or sioppage of fan. SRR fenperaing dxeaedt DT
WEREIRE TS AR (708 PR——
Voot exchangr tempsanaar discarrecton clam| 5 227Eeg
E  [For oot-maunied type oy

2R,
urn off he cooling unit and
comtact the sumplir,

. o
“Heat exchorger femperature sensor failure
HUAFEE - o Farced coaling operafion e use n nseciont
6v. T2 7KL SUSRIRE
L Ry

or 3 seronds or nore. The aperofion lonp wil
clried, e TUMING for e réoed Delid by T frced
eims fo romil optsahon.

i,

LEH . nevemontr o,

| o By e ue. Cogges f1es con b o e of per

T o Tkt o For

Pl s oo T 0 1 W e unecisey o Seing 2
necormended bosioally. Abnermol anount of condensaflon water oy be resulted If Hhe sedting Is too low.

MR TAM LR

Far more infornciion. please cal. us.  Ni® NITTO koovo componamon

E O EL +81561-64-0157 Wl

Cuslomer Service Dffice

A Caution

eyebolt use.

product.

Please lift up evenly using eyebolts whenever lifting up a
cooling unit. Lifting up one side only may result in
breakdown or damage of the product.

Please do not lift up a cooling unit in the cabinet attached
state. It may result in breakdown or damage of the

PCN-70T-2, 110T-2, 170T-2, 230T-2, 300T-2 have two Nut
MS8 depth 13 on top for installation of eyebolts.

Please tighten it so that the bearing surface of the
eyebolts adheres to the nut surface at the time of the

Nut M8 depth 13 for eyebolt installation




@ Cutouts <View from outside the panel >

(unit: mm)

PCN-30T-2 PCN-70T-2
Cut-out hole 4-010cut-out hole Cut-out hole 4-910cut-oul hole
VT \ (Mounting hole)
39 \ 280 (189) (Mounting hole) 40 300 (260)
~ (75| /- =~ (250)
(¢] () ™
= = -
= = it - T
© LOK
o| ™ o|lm | N X , o @
™ ~|w o |~
[qV] K=) —| au IXIRTS) | I |l
[ep]
N H - — o |
- ol - T o
2l a 480 N 2l o 580 ~
508 (14) 600 (10)
PCN-110T-2 PCN-170T-2
Cut-out hole A4-B10cut-out hole
Cut-out hole 4-@10cut-out hole _Tﬁ___if___];_r_y__
50 \ 330 (270) (Mounting hole) 39.5 320 (289.5) ounting hote
— 25 (275) _
3 40 (260) = 3 =
a < - 0
s R £ A W N |/t ; Ao -t
(2] [Te) _| 3
- o™
< X o o X . o|le
— M~ W [N] el mte)
™ ! al o™ o, ! N )
a ®
~ 7| 1 - T — o o L - __:_—x Py
-l 10 630 ~ —| 14.5 620 0
650 (10) 649 (14,5)
PCN-230T-2 PCN-300T-2

Cut-out hole

4-010cut-out hole
(Mounting hole)

40 \ 320 (350)
~| 25 \ (335) =
o ©
T -_'n A'| - - :
X |
o
< ol m
© ! ' 5| o
™ ! ' m <
a
o™
1 p—— - I
(o]
2 s 680 ©
710 (15)

Cut-out hole

4-@10cut-out hole
(Mounting hole)

40 \ 350 (430)
=| 254 (415) =
o ©
___:r‘i _ __ -
_#(_I |
S :
<t ol m
<o) o| o
™ m| <<
S !
r i - -- --h
fan)
hid 15 790 Lo
820 (15)




2 — 3 Attachment of drain hose
Moisture arisen from dehumidification by Compressor Cooler is discharged through a drain hose.
Pay attention to the following notices in order to attach the drain hose properly.

A Caution

If the drain hose is not attached properly, water collected in the drain pan inside the Compressor Cooler may
overflow into the enclosure interior.

 To prevent a hose from coming off, insert it deep enough to a drain pipe.
In case the joint of a drain hose and a drain pipe is not tight enough, use a hose band to fix the joint
securely.

* Do not connect two drain pipes.

» Apply the enclosed L joint on the corner of the enclosure.

o

L joint

S S S S S S S S
~Compressor

/Cooler

7 s s s S =

E Enclosure

- Let a drain hose go directly downward without kinks and windings.

» Any part of a drain hose should not be higher than the level of a drain pipe of Compressor Cooler.

* The free end of a drain hose should be directly downward without bending.

» A drain hose should be directed downward within 500mm distance from a drain pipe end.

* In case a hose has to be routed crosswise over 500mm depending on the application, please give a slope as much as
possible so as to ensure smooth drainage. 500mm or less

o ZCompressor ? X X Compressor //
//cc/ml/er///A““‘/‘ﬂ%%“’*'*Qn::_/§ /Cp(ﬂe;///é =y

Enclosure Enclosure

Attention: Do not put excessive force on drain pipe when working.

* Adjust the hose length so it end does not submerge in the

container. O x

* Empty the container frequently especially on humid days.

WATER




3.

Wiring

A Caution

®

- Please observe all the local regulations in installation of the cooler.

 Supply voltage should be as specified on the rating plate.

- Allowable power fluctuation is +/- 10% from the rated voltage. Pay attention so as the maximum fluctuation
should be stayed within this range.

» Make sure that grounding has been properly done.

» Before electrifying the unit, make sure again that there is no problem in supply voltage, wiring connection and
grounding.

3—1

Wiring procedure (Applicable wire range AWG24~12.70.2~2.5mm?2)
(DStrip the wire by 6 to 7 mm.
@Push down the Push button with a flathead screwdriver.
@Insert a wire into the port.
@Release the screwdriver.
®Check that the wire is secured.
®For the application using crimp terminals, the bar terminals made by Phoenix Contact.

©Detailed view of Terminal block
(Single phase) “Accessory”

a contact, 240V 1.5A x2

1T

resistance load

Push button for

/ connection

-IOll-P
zOﬂ:ﬂzD
mOﬂ:ﬂmD
- Oll-Pp
I\DOH:HND
wQﬂ:ﬂ\uD

N
AC200V
IN

Ne—}
Alarm output

Earth

Wire port

©Detailed view of Terminal block

(3 phase)

“Accessory”

a contact, 240V 1.5A x2 resistance load

T

Push button for

aNaATaANaANANaANA / connection
R S TE 1 2 3]
000000

I~ .

Wire port
ES T ET 23
ACIZI\?OV Alarm output

Earth

Note: For details, please refer to the paragraph 4-6 in
Page 35

3 —2 Circuit diagram

©PCN-30T-2~PCN-170T-2 (Ex : PCN-70T-2)

Terminal
board
I_“—l Fuse 250V 1A
Lo |
LF CN8
RYI Terminal
Overheat board
detector
- ] 8 T o |
— CNT Oy Lo !
I__—‘ B CN3 |—O 3J
Oper load I 1l | o _( 5
protector | & | perating
I' 31l T condenser oz
- Control board

.

Internal tan (fpc)

External fan

Compressor

(foc)

I

i Float syitch



©PCN-230T-2

Float syitch

Over load
. - Drotector3m
ermina
boerd_ N Fuse 250V 1A
R o | |
B s oultfom
1 T o 1
E
- CN8
RIS T C| A SHEY RISTI
= MG 1 RYI
1 Thermal Terminal
y lay 1 i Overheat board
BCA : " i - o ' detector
RST |J 0, . ol
1 1
Reverse phase - CNT Xy ; g i
prevention relay u agnetic
W syitch ch3 J
L _ _ CN2 || Control
board
3
I G ‘% | RN
M @ cMP )}y Over load AP
erotector .
_ - Float syitch
Internal fan (2oc) Compressor External fan Apc)
©PCN-300T-2
Terminal
boa[g_l t1-% 250V 1A
R o |
e B2 o [[serse>
1 T o 1
E
- CN8
RIS T Cl A Rl §|T1
' S| R --
j fron RYI
T Thermal \/ Terminal
B CTA ! relay 1 4- __ j Overheat board
} ! detector
RST |J I . o ]
1 1
Reverse phase - CNT 2
prevention relay U VW Magnetic CN3 °© 3J
syitch _
_ 1 __ CN2 || Control
board
Thermosla
| @-i
@ @ LCMP FM2 (FM2l (FM2

Internal fan (2pc)

Comoressor

External fan (dpc)



3 — 3 Overcurrent protection

& Caution

0 Do not forget to fit an earth leakage breaker.

— Failure to this may lead to tripping of the earth-leakage breaker for the enclosure in the event of electric
leakage.

* Recommended Capacity of earth leakage breaker
- PCN-30T-2 Rated current 5A
» PCN-70T-2 Rated current 5A
- PCN-110T-2 Rated current 5A
- PCN-170T-2 Rated current 10A
- PCN-230T-2 Rated current 10A
- PCN-300T-2 Rated current 10A
- With the input of power supply, or with the start of cooling operation, Compressor Cooler is subject to starting
current for approx. one second.
Therefore, the selection of an earth leakage breaker should be made so as to assure stable operation without affected
by such current as well as providing effective protection against possible overcurrent thereafter.
- For earth leakage breakers, use a reference value of 30mA for sensitivity rating as a guide of selection.

4. Operation
4 —1 Caution

A Caution

For protection of compressor, wait at least 30 minutes after installation of the unit and then turn on power to
start operation.

Never repeat ON/OFF more than 6 times within an hour.
Frequent switching on and off of a compressor may be a cause of trouble and shorten its lifetime.
Turn up the cooling operation stop temperature of the parameter setting (See Page 34) if frequent on-off

® occurs.
Never put your fingers into the unit or uncover the unit during operation.
Failure to this may be a cause of injury.

Never operate Compressor Cooler leaving the enclosure door open.
Failure to this may lead to excessive condensation and drainage volume as well as creating the possibility to
allow condensate to enter into the enclosure interior.

4 — 2 Operation panel Display (Internal temp. indicated when power is on)
UP button < [RUN / ]
CC
Operation lamp (Green) T L~ SET button
Lighting : Operating O SET ]
Lights off : Cooling operation is suspended LY
Blinkina : Compulsory operation is executed LALYARM l
DOWN button Alarm lamp (Red)

4 — 3 How to change the setting temperature

A Caution

Setting temperature should be basically at 35°C. Avoid setting an unnecessarily low value which may cause
excessive condensation or drainage.

(DTurn on the unit. The current internal temperature will be indicated on the display.

@Press the SET button. The current setting temperature will be flashed.

@ Change the setting temperature by the UP and DOWN buttons within the range from 30°C to 45°C.(Initial
setteing:35°C)

@Press the SET button. The setting temperature has now been changed and the unit restarts operation.

4 — 4 Compulsory cooling operation (For inspection purposes)
Hold down the UP and DOWN buttons at the same time for 3 seconds or more.
The operation lamp will light and the unit will start compulsory cooling operation.
After a lapse of the time set by parameter (See Page 34), the unit will return to normal operation mode.
Note: Factory setting for compulsory operation is 30 seconds.



4 —5 Parameter setting
Normally, there is no need to change the setting of the parameters.
If necessary, follow the procedures described below.

OHold down the SET button for more than 3 seconds when the internal temperature is displayed.

df

L d

A
(N

The parameters are indicated in the following order. Press the SET button to move to the next parameter.
Display a parameter desired to be changed and set the value using the UP and DOWN buttons. Set the
parameter by pressing the SET button.

+ Differential(dF) |Initia1 setting : 5°C| Setting range: 3 — 10°C
This indicates the temperature difference against the setting temperature at which the
compressor stops
: Setting of the temperature and the cooling operation stop temperature should be made so
as to avoid repetition of compressor’s on/off operation of more than 5 times in an hour.

» Compulsory cooling operation time(Cd) |Initia1 setting: 30 secl Setting range : 0 — 90 sec
This indicates the time of compulsory operation time when the UP and DOWN buttons are
pressed for 3 seconds or more at the same time.

* High Temp. Alarm setting |Initial setting : 45°C| Setting range: 35— 51°C
This indicates the temperature at which High Temp. Alarm turns on.

- Differential for Alarm(dA) [Initial setting : 2°C| Setting range : 1 —20°C
This is a differential for resetting High Temp Alarm.
AL — dA = the temperature at which the alarm is cancelled

» Maintenance-reminder(FI) [[nitial setting: 0 Setting range : 0-99

This is the function to remind you maintenance works in a timely manner.

0 : This function is ineffective

1-99 : 1 means 100 hours. Notification period can be set between 100 to 9900 hours.
Time measurement in the control board is made on an hour basis.
As an example, if this is set to 99, notification is made in 9900 hours after power input

» Compulsory cooling operation setting at power input(CS) [Initial setting: 0| Setting: 0 or 1

This is to set the compulsory operation when power connection is made.
0 : Compulsory operation at power input is effective
1 : Compulsory operation at power input is ineffective

» Setting for restoration method from Abnormal Heat Radiation Alarm(Pr)
Setting : 0 or 1
Select 0 or 1 for setting manual or auto restoration from abnormal heat radiation alarm(E3).
0 : Manual restoration
1 : Automatic restoration
Refer to “5. Alarm/Safeguard (2) in Page 39 to clear the alarm.

Attention

In case Auto restoration is selected, cooling operation will restart when the overheat detector in the
refrigerant circuit is reset.

However, the contact output and the alarm code indication will not be reset.

Early maintenance is recommended. Repeated Auto restoration without solving the cause of problem
may result in trouble of the product.

» Setting of maintenance timer(Fo) [[nitial setting: 1| Setting: 0 or 1

Set the contact output behavior at the set time for notification of maintenance work.
0 : Contact output is ineffective
1 : Contact output is effective
Note: When “0” is set, no alarm output takes place at the set time although the display shows “E4”.

» Setting assignment of alarm output terminals (AS) [Initial setting: 0| Setting range : 0-3

Alarm output terminals output once an alarm is detected.
This is to assign the terminals for each alarm.
0 : Monitoring of alarm occurrence
1 : Monitoring of cooling operation and alarm occurrence
2 : Monitoring of need for power shutdown and restoration when an alarm occurs
3 : Monitoring of continued operation by the type of alarm
Note: See Page 36 for the details.




* Choice of switching method of alarm output terminals(Ao) Setting : 0, 1
R O This enables inversion of switching OPEN/CLOSE of output terminals.

0 : Output occurs as set in the assignment setting of alarm output terminals
1 : Reverse action to 0 occurs, however this does not affect between terminals
2 and 3 when AS setting is 1.
Note: See Page 36 for the detalils.

- Setting of operation mode(rM) [Initial setting’ 1| Setting range : 0-3
n This is to set operation mode of Compressor Cooler terminals for each alarm.
0 : Continuous run

1 : Energy-saving mode 1
2 : Energy-saving mode 2
3 : Energy-saving mode 3
Note: See Page 37 and 38 for the details.

+ Setting of cooling operation time for energy saving mode 3 (t1)

t " initial setting: 7| Setting range : 7-60 minutes

This is to set the cooling operation time when energy-saving mode 3 is selected.
Note: This appears when rM is set at 3.

e Settmg of shutdown time for external fan and compressor (t2)

Initial setting: 3 Setting range : 3-10 minutes

This is to set the time period for restarting the compressor after shutdown.
For prevention of frequent ON/OFF of the compressor,cooling operation is
suspended during the set period.

» Display of software version(Sn)
b N This is to display the software version. Unable to change the setting.

‘When you finish the setting, press the SET button for 3 seconds or more. The display shows the
current internal temperature again and the setting is stored.

*When no button is pressed for more than 30 seconds during parameter setting, the screen displays the
internal temperature again without storing the setting.

To continue parameter setting, keep pressing SET button for 3 seconds or more.

4 — 6 Assignment of alarm output terminals
Alarm output terminals output once an alarm is detected. By setting the alarm output terminals, monitoring of many
different operations is enabled.

This setting functions by changing AS and Ao. Before supplying power to the cooling unit, both of terminals 1-2 and
terminals 2-3 are open. The timelag between power input and the change-over of the terminals is 0.8 seconds.

(1) Monitoring of alarm occurrence [AS:0]  [Initial setting]
The state of alarm output terminals changes by alarm occurrence regardless of whether cooling operation is
executed or not.
(2) Monitoring of cooling operation and alarm occurrence [AS:1]
The state of alarm output terminals changes responding to the state of cooling operation and alarm occurrence.
(8) Monitoring of need for power shutdown and restoration when an alarm occurs [AS:2]
The state of alarm output terminals changes responding to the alarms E1, E3, E4, E6, and E7 which can be
automatically or manually restored or the alarms E5, E8, SE and tE which require to power shutdown.
(4) Monitoring of continued operation by the type of alarm [AS:3]
The state of alarm output terminals changes responding to the alarms E1 and E4 in which cooling operation is
continued or the alarms E3, E5, E6, E7, E8, SE and tE in which cooling operation is discontinued.

Note: Cooling operation means the state in which the compressor 1s running and cooling air blows out from the
exhaust port inside the enclosure.



Assignment table of Alarm output terminals [Ao : 0]

Terminals 1-2

Terminals 2-3

AS . Operation behavior | State of . Operation behavior | State of
Description . . Description . .
of cooling unit contact of cooling unit contact
0 Contact changes over Alarm OFF CLOSE | Contact changes over Alarm OFF OPEN
by the state of alarm. Alarm ON OPEN | by the state of alarm. Alarm ON CLOSE
Alarm ON CLOSE | Contact changes over In cooling CLOSE
: Contact changes over s operation
by the state of alarm by the .state of cooling Cool -
v ‘ Alarm OFF OPEN | operation. ooling operation |- ppy
is stopped
C h Alarm E5,E8 C h Alarm
ontact changes over > CLOSE ontact changes over E1,E3,E4* E6 CLOSE
by the state of alarm or SE ON by the state of alarm or E7 ON
2 | which requires power which does not require
shutdown and Alarm E5,E8 OPEN | P°V" shutdown and 1 El?éaErZi‘ 6 OPEN
restoration. restoration. 7 ’
and SE OFF and E7 OFF
Alarm Alarm
Contact changes over E3,E5,E6,E7,E8 CLOSE | Contact changes over E1 or E4* ON CLOSE
3 by the state of alarm or SE ON by the state of alarm
which discontinues Alarm which continues Al
cooling operation. E3,E5,E6,E7,ES OPEN | cooling operation. arm OPEN
and SE OFF E1 and E4* OFF
(*) Alarm E4 does not output when Fo is set at 0 although the display shows “E4”. (See Page 34)
Assignment table of Alarm output terminals [Ao : 1]
Terminals 1-2 Terminals 2-3
AS .. Operation behavior | State of .. Operation behavior | State of
Description . . Description . .
of cooling unit contact of cooling unit contact
Alarm OFF OPEN Alarm OFF CLOSE
0 Contact changes over Contact changes over
by the state of alarm. by the state of alarm.
Alarm ON CLOSE Alarm ON OPEN
Alarm ON OPEN | Contact changes over In cooling CLOSE
| Contact changes over by th f cool; operation
by the state of alarm y the state of cooling Cooli ;
Y ' Alarm OFF CLOSE | operation. ooling operation | ppy
is stopped
Alarm E5,E8 Alarm
Contact changes over arm Lo, OPEN | Contact changes over E1,E3,E4* E6 OPEN
by the state of alarm or SE ON by the state of alarm or E7 ON
2 | which requires power which does not require
shutdown and Alarm E5,E8 CLOSE power shutdown and 1 El??l,aézl* e CLOSE
restoration. restoration. 9 ’
and SE OFF and B7 OFF
Alarm Alarm
Contact changes over E3,E5,E6,E7,E8 OPEN Contact changes over E1 or E4* ON OPEN
3 by the state of alarm or SE ON by the state of alarm
which discontinues Alarm which continues
cooling operation. E3,E5,E6,E7,E8 CLOSE | cooling operation. Alarm CLOSE

and SE OFF

E1 and E4* OFF

(*) Alarm E4 does not output when Fo is set at 0 although the display shows “E4”. (See Page 34)




4 —7 Operation mode setting
Following to power connection, Compressor Cooler starts operation in the each setting mode.
Factory setting for the setting temperature is 35°C with 5°C differential, which means the compressor starts for
cooling when the temperature inside the enclosure reached 35°Cand stops at 30°C.
Four operation modes of continuous run and three different energy saving mode are available.
Pay attention to the following matters in every operation mode.

* In case the internal temperature exceeds the high temperature alarm setting when power is turned on, the alarm lamp lights
by the setting of AS and Ao according to the assignment table of alarm output terminals described in Page 36.

» Cooling operation will not start for a certain period of time (initial setting: 3 min) after cooling operation has stopped even if the
internal temperature goes up to the set temperature.

(1) Continuous run
Cooling operation starts at the set internal temperature and the external fan and the compressor will stop at the
set cooling operation stop temperature. The internal fan does not stop. The values in the () show the default
setting.

Setting temperature (35°C)

Differential temp (5°C)

Cooling operation stop temp
(30°Cc)

External fan, compressor ON
OFF

Internal fan QN
OFF =7 T e

(2) Energy-saving mode 1 [Default setting]

Setting temperature (35°C)
Differential temp (5°C)

Cooling operation stop temp

(30°c)
External fan, compressor N

OFF :

Internal fan N ; I
OFF =~ -7 mmmrmmmmmm e |
I: 30min T 30min >
Note
*For protection of the refrigerant circuit, the internal fan will not stop for 5 minutes after cooling operation has
stopped.

- The internal fan runs continuously when the internal temperature exceeds the cooling operation stop
temperature when the internal temperature exceeds the cooling operation stop temperature




(3) Energy-saving mode 2
The internal fan runs in conjunction with cooling operation.
Effective for energy saving when cooling operation is stopped under a low temperature like winter season. The values
in the () show the default setting.

Setting temperature (35°C)

Differential temp (5°C)

Cooling operation stop temp
(30°c)

External fan, compressor

ON
Internal fan OFF

Note :

-There is a risk of creating hot spots because the air is not circulated by the internal fan.
-For protection of the refrigerant circuit, the internal fan will not stop for 5 minutes after cooling operation has
stopped.

(4) Energy-saving mode 3
In case the internal temperature goes down below the set temperature but not reach the cooling operation stop
temperature, cooling operation and shutdown time take place by turns. Cooling and shutdown times are set by the
parameters t1 and t2. The internal fan runs in conjunction with cooling operation.
The values in the () show the default setting.

High temp. alarm (45°C) =--=---==mmmm oo oo oo oo oA e

Setting temperature (35°C) p------------s=-m--mmmssmmmmmmogg oo m o

Differential temp (5°C)

Cooling operation stoptemp Y-\ - .

(30°C) o | |

N — P ! , ;
External fan, compressor OFFj! | _________ |_| __________ |_l __________ :__I_
Internal fan (())I!\IF-_:W M |—|_|J __________ _ __________ L _____ __________

30sec 30sec t1 t2 tl t2 tl

< »le »
< L Bl >

[™ 30min 30min

* Operation time of internal fan and compressor during intermittent operation (7 min.)
* Shutdown time of external fan and compressor (3 min.)

Note

-The internal temperature can exceeds the set temperature because the compressor is forcibly stopped by the set
time period. In case the heat value inside the enclosure is large, the internal temperature can even exceeds the
high temp. alarm temperature value.

-For prevention of excessive temperature rise inside the enclosure, cooling operation will be continued until the
internal temperature goes down below the set value if the internal temperature has not reached the set value
during the set time period.

-For protection of the refrigerant circuit, the internal fan will not stop for 5 minutes after cooling operation has
stopped.

-The internal fan runs continuously when the internal temperature exceeds the cooling operation stop
temperature.




5. Alarm/Safeguard
5—1 Alarm
(1) El . High Temp. Alarm
When the internal temperature reaches 45°C (factory setting), the alarm lamp will light and the alarm output
terminals will break and make contact as set in AS and Ao (See the assignment table of alarm output terminals in
Page 36). The display shows the current internal temperature and by turns to indicate that the internal
temperature is too high. Cooling operation will be continued.
When the internal temperature falls to 43°C(factory setting) or lower, the alarm output contact returns to the
original state and the alarm lamp turns off.
(2) @ : Radiation Error Alarm
If the cooling unit radiates too much heat due to some problems like clogged filters or fins or fan failure, the overheat
detector in the refrigerant circuit is activated to stop cooling operation. The alarm lamp will light and the alarm
output terminals will break and make contact as set in AS and Ao (See the assignment table of alarm output
terminals in Page 36). The display shows the current internal temperature and by turns to indicate abnormal
radiation.
Press the SET button of the operation panel for more than 3 seconds to cancel the alarm.
Turn off the power and clean the filters and the fins or replace the fan. IF the error has been resolved, Compressor
Cooler will restart normaly.
About PCN-230T-2, PCN-300T-2, in case the alarm is not cancelled after the above procedure, the integrated thermal
relay for overload protection may be working. To cancell the alarm, follow the procedure described below.

How to reset the thermal relay (Ex:PCN-230T-2)
A Caution

0 Do not fail to disconnect power and wait until the fan stops completely before carrying out any work.

(DRemove the screw cap for eyebolts @Remove the top cover. @ Press Reset button to cancel.
and the front cover.
Top cover
Screw ca ixi
Front panel p fixing screw
- for eyebolt 4x8 \\
fixing screw M4x8 A \ @D@
Top cover

&‘

[l

SDDD

Reset button

J
B
OO @
elele_ o

Thermal relay expansion

(3) : Maintenance reminder

When the cumulative operating hour reaches the set value, the alarm lamp will light and the alarm output terminals
will break and make contact as set in AS, Ao and Fo (See the assignment table of alarm output terminals in Page 36).
Current internal temperatures and are displayed by turns to remind you to carry out maintenance work. Cooling
operation will be continued.
Press the SET button of the operation panel for more than 3 seconds to cancel the alarm.
Turn off the power and maintenance of filter and others.
Change of the parameter for this function makes the cumulative hours by that time zero and operating hours are
counted anew.

(4) @ . Temperature Sensor Disconnection Alarm
Cooling operation will stop in the event of disconnection of the internal temperature sensor for some reasons. The
alarm will light and the alarm output terminals will break and make contact as set in AS and Ao (See the
assignment table of alarm output terminals in Page 36). The display shows .
In the event of this failure, turn off the power immediately and contact our Technical Support Department.

(5) : Drainage Error Alarm
If drainage is disturbed due to clogging in the hose or other problem, the float switch installed in the drain pan
activates to stop cooling operation. The alarm will light and the alarm output terminals will break and make contact
as set in AS and Ao (See the assignment table of alarm output terminals in Page 36).The alarm lamp (red) lights and
display shows the current internal temperature and by turns to notice drainage error. By eliminating the cause
of problem, the cooling unit will automatically return to normal operation.



(6) . Heat Exchanger Frozen Temp Sensor Alarm.
If the temperature of heat exchanger fin falls to 0°C, cooling operation will stop. The alarm will light and the alarm
output terminals will break and make contact as set in AS and Ao (See the assignment table of alarm output
terminals in Page 36). The display shows the current internal temperature and by turns to notice freezing of it.
Press the SET button of the operation panel for more than 3 seconds to cancel the alarm.
Turn off the power and clean the fin unit or replace the fan. IF the error has been resolved, Compressor Cooler will
restart normaly.

(7) . Heat Exchanger Temp. Sensor Disconnection Alarm.
In the event of temperature sensor disconnection on cooling side by some reasons, cooling operation stops. The alarm
will light and the alarm output terminals will break and make contact as set in AS and Ao (See the assignment table
of alarm output terminals in Page 36). The display shows the current internal temperature and .

(8) IE' : System Error
This error occurrs when the parmeters cannot be read correctly due to a memory fault.
The display shows only. The alarm lamp will light and the alarm output terminals
will break and make contact as set in AS and Ao
(See the assignment table of alarm output terminals in Page 36).
In the event of this failure, turn off the power immediately and contact our Technical Support Department.

(9) E] : Type Error

Contact our Technical Support Department.

5 —2 Safeguard

As a safeguard, this product is designed to stop operation under an abnormal current or a temperature.In this
event, the alarm or will occur.

If water level of the drain pan became too high due to clogging of the primary drain pipe, the float switch provided
in the drain pan terminates cooling for prevention of excessive drain water. In this event, the alarm will occur.
This product has double pipe system to keep enclosure interior from accidental water entry. Even if the primary
drain pipe fails to discharge water due to pipe clogging, the secondary pipe will compensate it.

When the temperature sensor provided in the heat exchanger on cooling side detects freezing temperature due to
fan failure or other problems, cooling operation stops to prevent freeze-up of the heat exchanger. In this event, the

alarm will occur

6. Maintenance

A Caution

Be sure to disconnect power before carrying out any maintenance work.

Use the specified screws. When fixing, tighten the screw with the recommended tightening torque. Insufficient
tightening may result in damage, falling, or failure to achieve the designated protection performance.
Excessive tightening may damage the product.

Proper tightening torque value

Kind of screw N m% . . .
m HThe proper tightening torque means
Front panel fixing screw M4x8 0.7~1.2 the torque at the completion of
Top cover fixing screw 4x8 t¥ghten}ng,and does not during
1.1~1.6 tightening process.
Airflow guide fixing screw 4x8

flat head fixing screw
External M4x45

fan ground screw M4x6 0.7~1.2
Internal fixing screw M4Xx50
fan

When replacing the fan, please wear gloves and other protective equipment.
—Contact with parts inside the product such as evaporator (aluminum fan) may cause injury.

to reduced cooling performance and/or breakdown of the unit.

Cleaning and user maintenance shall not be made by children.

é Use the specified filter for replacement. Use of fine filters will cause efficiency loss in heat releasing which leads

The appliance shall not be cleaned with a water jet.

The cooling circuit of Compressor Cooler has been filled with a required amount of refrigerant, tested for leaks and
subject to a trial run before delivery. Therefore, there is no need of maintenance for the circuit.

The durability of Compressor Cooler is generally 30,000 operating hours, provided

that its filter is kept clean. Depending on the environmental condition at the site

of use, check and clean the filter, if used, at least once a week.

Clogging on filter may lead to deterioration in cooling performance, or at worst,

may cause shutdown of the unit due to overloading on the compressor.



6—1

Filter cleaning/replacement
Detach the filter from the guide of the front panel to clean or replace.
©Replacement filter for external suction port

Model Applicable Compressor Cooler models
PCN-F1 PCN-30T-2, 70T-2
PCN-F2 PCN-110T-2
PCN-F4 PCN-170T-2
PCN-F5 PCN-230T-2
PCN-F6 PCN-300T-2

6 —2 Replacement of the external fan (Ex. PCN-70T-2)

Fan replacement procedures are as follows.
DTurn off the Compressor Cooler.
@Unscrew the front panel fixing screw M4x8 of front panel to remove.
@Unscrew the flat head fixing screw M4x45 fixing the fan as shown
in the right.
@Remove the electric cord, earth wire and the insulation rubber of fan
terminals and then detach the fan to replace.
®Attach a new fan in the reverse order to the above.
- Pay attention not to get the cable caught in.
- Put the insulation rubber on the fan terminals without fail.

6 —3 Replacement of the internal fan (Ex. PCN-70T-2)

DTurn off the Compressor Cooler.
@Unscrew the front panel fixing screw M4x8 of front panel to remove.
@ Detach the top cover by removing top cover fixing screw 4x8.
@Detach the airflow guide by removing airflow guide fixing screw 4x8.
®Remove the fixing screw M4x50 as shown in the right.
®Remove the fan cord to replace the fan.
DInsert the power cord to a replacement fan and then attach it to the
cooling unit.
- Pay attention not to tuck the fan cord.
®Attach the airflow guide, top cover, and then front cover.

©Replacement fan

Front panel
fixing screw

M4x8 \

Filter(White)

&

Flat head
fixing screw

M4x45 External fan

Top cover

e

Top cover
fixing screw
4x8 ;

Airflow guide
fixing screw

?‘/
4x8

Applicable Compressor Number of internal fan Number of external fan
Cooler models
PCN-30T-2 1 1
PCN-70T-2 1 1
PCN-110T-2 2 2
PCN-170T-2 2 2
PCN-230T-2 2 4
PCN-300T-2 2 4

& For replacement fan, contact our Technical Support Department.



6 —4 Troubleshooting

Failure

Cause

Remedy

* Internal temperature
rises too much.

* Cool air is not blown out.

+ Display shows High Temp
Alarm or Radiation
Error Alarm .

a . Because the breaker tripped,
power is not supplied to the cooler.

b . Internal temperature is lower than
the setting temperature.

c . Less cooling capacity against the
set value.

d . Ambient temperature is too high.

e . Internal temperature is too high.

f . Filter is dirty.

g . External fan is not running.

h . Internal fan is not running.

i . Poor air circulation.

a . Turn on the breaker.

b . Check the temperature setting and the
internal temperature.

c . Set a higher value,or change the cooling
unit with a one of higher capacity.

d . This unit is unusable under a circumstance
where the ambient temperature may
exceed 50 C.

e . This product cannot be used where
temperature exceeds 45 C.

f . Clean the filter.

g . Check temperature setting and the internal
temperature.
In case of fan failure, replace the fan.

h . To check whether the fan works properly,
execute forcible cooling(See 4-4 of Page
33).

If it did not run, fan replacement is
necessary.

i . Remove the problem referring to Page 27.

+ Fall in internal
temperature is too much.

a . Setting temp. is too low.
b . Failure in the internal circuit or
the temperature sensor.

a . Change the setting.
b. Contact our Technical Support Department.

+ Drainage error occurred.

(Display shows )

Drainage is stagnant.

Check the drain hose for clogging or bending.

» Too much condensation.

Enclosure is not airtight enough.

Seal gaps to improve airtightness.

+ Display shows .

Built-in temperature sensor breakage.

Contact our Technical Support Department.

+ Display shows .

Internal fan is not running.

Replace the fan.

+ Display shows .

Heat exchanger temperature sensor
failure.

Contact our Technical Support Department.

 Display shows .

Memory breakage.

Contact our Technical Support Department.

Note: In case any problem is found during operation, turn off the power and stop using the product and contact our

Technical Support Department providing information including the model and the purchasing date of your unit.




7. Specifications

7 — 1 Standard specification
Model PCN-30T-2 PCN-70T-2 | PCN-110T-2 | PCN-170T-2 | PCN-230T-2 | PCN-300T-2
Cooling capacity %1 300/350W 600/700W 950/1100W | 1550/1700W | 2100/2300W | 2700/3000W
. 3 phase 200VAC
Rated voltage ingle phase 200VAC 50/60Hz 50/60Hz
Current Rated 1.4/1.2A 2.1/2.1A 3.3/3.2A 3.9/4.0A 3.4/3.6A 5.0/5.5A
consumption
%9 Max. 1.5/1.4A 2.5/2.6A 3.8/3.8A 4.4/4.8A 3.9/4.2A 5.9/7.0A
Starting current 3.8/3.6A 6.7/6.0A 13.1/12.1A 15.0/13.9A 14.8/15.5A 18.9/20.4A
Power Rated 230/230W 400/410W 580/640W 710/790W 940/1100W | 1430/1710W
consumption
%9 Max. 260/280W 490/510W 690/760W 830/950W 1130/1320W | 1780/2220W
Compressor motor output 100W 275W 375W 525W 850W 1300W
. - approx. approx. approx. approx. approx. approx.
Noise (Characteristic A) 61dB 64dB 65dB 66dB 66dB 67dB
Type/Designation HFO/R1234yf
Refrigerant
Amount 140g 190g 410g 500g 580g 1580g
GWP X3 <1
Outer dimensions 454(508)x 551(600)x 603(650)x 596(649)x 655(710)x 765(820)%
WxHxD (mm) %4 230x253 330%273 349x355 446%353 444x403 444x403
Weight 16.0kg 23.5kg 33.0kg 37.0kg 47.0kg 57.0kg
Top Mount Type common specification
Type of mounting Top Mount Type

Working temperature

C %5 Internal temperature +20 to +45 / Atmosphere temperature +20 to +50
Working humidity Not exceeding 85, free from condensation
%RH
Setting teinpeljature range +30 to +45 (Initial setting: 35)
C %5
Display Internal temperature, Alarm code/Operating lamp/Alarm lamp
Off-temperature alarm, Detection of abnormal heat dissipation,
Function

Detection of temperature sensor disconnection
Drainage Error Alarm, Heat Exchanger Frozen Temp Sensor Alarm

External output

Alarm output, 1a 240V 1.5Ax2 Output (Common)

Vibration resistance

Vibration frequency 10-55Hz, Stroke 0.15mm,
Sweep cycle 10 times

Protective category

Internal circuit : equivalent to IP54

EMC directive Conforming to EN61000-6-2 and EN61000-6-4
Applicable L‘()i‘fv voltage EN60335-1, EN60335-2-40 and EN62233
standards irective
Environmental
standard RoHS
Body color Powder coating 5Y7/1 corresponding

Fuse rating of control board

250V 1A

1. Nominal value when temperatures both inside and outside the enclosure is 35°C
2. Values at 35°C temperature both inside and outside are indicated in “Rated” and values at 50°C outside and 35°C inside are

indicated in “Max.”.
3. IPCC 2013.

4. The parenthesis is the dimension including the mounting flange.
5. These products should not be used outside the temperature range.



7 —2 A complete set of supply

<Bottom view>

508
o
Terminal board = ~
\ 7

N =

Lo v Lo

21 480 14

— <

Ttem PCN-30T-2 PCN-70T-2 PCN-110T-2 PCN-170T-2 PCN-230T-2 PCN-300T-2
Compressor Cooler 1
Fixing bolt M6x30 : 4 M8x30: 4
Washer M6 : 4 M8 : 4
Spring washer M6 : 4 M8 : 4
Nut M6 : 4 M8 : 4
Packing 1
Drain hose 1 (5m)
L joint 2
Terminal board 1
Alarm code explanation sheet 1
Instruction manual 1
7 — 3 Outline drawing (unit: mm)
PCN-30T-2
<Top View>
ﬁ Warm air
n
ﬁ Air from outside
<Front view> <Side view> <Rear view>
Operation panel \i\ 454 i 7.5 223
T
o _>1<@ |
& I
‘ 111
‘ \ External air inlet filter NS o
Air from inside Cool air (White) Secondary drain pipe

(Outer dia. 912)
Main drain pipe
(Outer dia. ©12)




(unit: mm)

<Top View>
op View. ﬁWarm

22.5 201.5

S

4

PCN-70T-2
air
Lo
I3
L
2
I~ 2-M8 Depth 13mm for eyebolt

ﬁ Air from outside

<Front view>

Operation panel \i\ 551 |

<Side view>
7.5 273

<Rear view>

A
8 1 e8
[N IlK
o N\ External air inlet filter = - 126 |
Air from inside Cool air (White) Secondary drain pipe
(Outer dia. 912)
<Bottom view> o
800 Main drain pipe
o} o (Outer dia. ©12)
A <T
Terminal board Jf
| |
€ \ o
a N —
10 © 580 10
& S
PCN-110T-2
<Top View> & warm air
20,5 226.5 | o
| a
[1]
\ E
Z) o 2-M8 Depth 13mm for eyebolt
£ Air from outside
<Front view> <Side view> <Rear view>
Operation panel 603 Q)N(L
[o2]
& —>-|<@
\ External air inlet filter ale o 130
Airfrominside ~ Cool air (White) Secondary drain pipe
(Outer dia. 912)
Main drain pipe
<Bottom view> (Outer dia. ©12)
650
[(e] o
Terminal board B
\ _T ‘WM‘ ‘3:‘ [
o
AN | (el :
\
—110 0SS




(unit: mm)

PCN-170T-2
<Top View>
{ Warm air
205, 238 _ o
n
[Tel
&
4 o~ 2-M8 Depth 13mm for eyebolt
{ Air from outside
<Front view> <Side view> <Rear view>
Operation panel 596 i L5 303
w
el
~ _(26)
E‘—;\'
it from insid \ ) External air inlet filter bl
Air from inside Cool air (White) Secondary drain pipe

. (Outer dia. 12)
<Bottom view> o
649 Main drain pipe

Terminal board & 5 (Outer dia. 012)
\ T | !
SN 3
84— 2
14,5 14,5
PCN-230T-2
<Top View>
{ Warm air
76,2395 <
. S|
v 2-M8 Depth 13mm for eyebolt
£ Air from outside
<Front view> <Side view> <Rear view>
Operation panel 655 | 8 403 |
=
= (25) _I(_
T N - ol ;l 12|
Air from inside Cool air E()\(/t\;et:ir:g)l air inlet ilter e Secondary drain pipe/ '
(Outer dia. 12)
<Bottom view> Main drain pipe
710 (Outer dia. ©12)
O fem)
Terminal board ™ _ L
\ 1 f
=N =
P -
15 680 15 &3




(unit: mm)

PCN-300T-2
<Top View>
0 Warm air
98, 2995 | &~
2 S|
g <

- /o5

] — A— )

2-M8 Depth 13mm for eyebolt

f Air from outside

<Front view> <Side view> <Rear view>
765 8 403

Operation panel

==

s
=~ 27)
o _—
L External air inlet filter ke ] 129
Airfrominside  Cool air (White) Secondary drain pipe
(Outer dia. 12)

Main drain pipe
<Bottom view> (Outer dia. 012)

820
Lo o
Terminal board\“' _ O
2N\ 2
&L T
15 790 15 3

8. Waste disposal
Dispose of the product so as to comply with all the related laws and regulations of your country.

A Danger

High concentration refrigerant has a negative impact on the human body.
As refrigerants are heavier than air, they have a risk to stay on the floor surface when they are released to air in

a place with poor ventilation.
To release a refrigerant, select a place free from fire having good ventilation and release it little by little.
Do not release the refrigerant towards the human body. If it is inhaled, be sure to seek immediate medical

attention.




MEMO

EIL%EESL Installation Contractor

TEL

WIEAAR &F A =]
Date of Installation Year Month Day

fikk7e &, BV R LICET T AL BHY ETOTITRITES N,

F2. TRBRERD D E Lz SO BEFHREICBIENADELIZE N, ZOBRFHAEONIL 2018 45 7 HBIED L DT,
Specifications etc.contained herein may be changed without notice.If you have any question regarding contents of this document,please
contact our Customer Service Office.

(The information contained herein is as of July 2018)

NTO BRI EHTNEH Lo o s o

2201, Kanihara, Nagakute City, Aichi Prefecture, 480-1189, Japan
©NITTO KOGYO GORPORATION Technical Support Department TEL+81-561-64-0152 .
http://wwww. nito. co. jp Made in Japan




